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ABSTRACT 

 
 The principal objectives of this study are to analyze the saving behavior of the people in 
Bangkok area by scoping in life-insurance saving, and also to investigate the facters affecting to 
types of saving of the people as well. This study also extends its analysis to compare the return 
between life insurance saving and bank saving deposit. This study collected data and information 
by using questionnaires, in which number of sampling is 400 samples living in Bangkok area. 
With purposive method of sampling, total 400 questionnaires were allocated to clients of 5 
commercial banks, namely Siam Commercial Bank, Bangkok Bank Ltd, Krung  Thai Bank Ltd, 
Bank of Ayudhya  and Thanachart  Bank, equally.      
  The results of the study reveal that in term of return of saving with the same amount of 
funds, fixed saving deposit account  provided a greater return to people than that of life insurance 
saving account. However, considering in term of net present value (NPV), the result shows an 
opposite outcome. Taking into account of discount rate of 3 %, the return of life insurance saving 
will gave customers more net present return than what offered by fixed saving account. This is 
due to the fact that the life insurance saving will provide return to clients during term of saving.   
 The study also found that higher income, higher education level and marriage status will 
had provide larger probability for people to make saving in life insurance program. The main 
reason for clients to make decision in saving in life insurance was benefit on life insurance, both 
in rate of return and other in-kind benefit. On the other hand for those who choose to not save in 
life insurance program feel that the terms of agreement of saving would make their funds being 
in-liquidity for long time. 
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���������� 2550 ��������� 

��!�"#���$%��
���� 2549 �������
���(�)*!����!��+��,%��!�"��!�
��-!��� 

��  ��.�/0�����12�������3$���,%�3#*�#���)��3
�+�*������)�"4 )��3�����������)��.5�3�� *!�)#��������*�6�)#���#��"#���$%��   /#��!�����
"#�)��3��$%�3�%�����74���(�)*!����!��+�   ���1��8,�����9��)��:�1���2�6��7#���#��������"��
8����,.�����;����!� ���"�.�*"#�8$��  3���)3  2550 ��<�"4�3� 9��)��:�1���2�84����!8��"��
8����,.�!���#��"#���$%�� "�3��������"��8����,.��(�����,%����!8!�0=�  5  )��.� ��3�4��!�  1.75  
A=%�� 

+�����"��8����,.�����;����7#�,%��8���4��!� 0.75 B 2.5 �5��-4*��
7��
�,%
�;��������4���
9��)��:�1���2!8!� 
 *"#������!�����9+���
�������,��"�!��3,�������,%8,�=.� *!��84���)��3/��
3���=.�     
��$%��
����"���!"��*����/#����������3��7#�,%�4��!� 3 B 4 A=%���"������"��("�����,.�
�������������:�%3�=.�0=��4��!� 16.36 9+���
�������,��"
=���<�*-!#���83������3
����)
)�����$��*!���)9+���
�,%3,�����3���=.���#��"#���$%�� (8�
��������,����,���4�37!����;����)
)�����$����/0�����������"#��E :��#� ��-�#���� 2545 B 2549 ���	���������,��"/�3��0��83
����;���843����<����8���,% 3 ���
��9��)��:�1���2*!�9��)����3/��*!����� 2550 ���	��
�������,��"/�3��0��83����;���843����<����8���,% 2 (��:�,% 1.1 *!� 1.2)  A=%�������3�-!#��,. 
9+���
�������,��"
�"4��/5������4/#��-�=%��:$%������������� /#���,%�-!$�/�3��0�5���!��+�-�
�!"��*���84 (8�
���4����!��+��,%3,)��3�/,%��"%5� ��<����!��+��������/�8)!4�����*-!#�
�����+��,%��<�������3������� ��#� ���!��+���:��9��"���
��!���  :��9��"���)2��-�$�
��
��/�-��
  ��<�"4�  8����.� ������3����)9+���
�������,��"
=������<�*-!#������+��,%/5�)���,�
*-!#�-�=%��,%�5���:�H�����������7����()�����!��+�"#��E  �#��-4���8���
4�����*!����
���
������84  �5��-4���	
��
*!�/��)3����������"��("��#��*�6�*��#� 
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 ���
��*��������:$.�
����%����,%�-4)��3)+43)��� 9+���
�������,��"�843,���
:�H���!�"��1J2�-3#E �:$%��-4)���)!+3�+��!+#3��K�-3��  ��#�  *���������:$%������3���:�2  
���	���������,��"�84:�H���7�*����39��32�������,��"�-3#E(8�)5��=�0=�)��3"4��������
���������:$.�
�������39��32�������,��"*��/�/3���:�2 (8���4��,%��39��32�������,��"
�,%3,������!�����5�����,.��������,��"�-4��7#�������!��,%�-3��/3�3#�#��-4���8����*�#�74���
���������3����� ��39��32�������,��"�,%3,�!���(���2������:�%33���=.���#��,%��<���7#��� 

+��� 
��39��32�������,��"�,%3,/#���#�3�����!��+�3���=.� ��39��32�������,��"�,%3,/#���#�3���!
���������������	���������,��" (Participated Policy) ��<�"4� *����������3���:�2�:$%����
��	,�1���+  *���������,%:#��84�����!��+� -�$� Investment Linked �:$%�"��/���)��3
"4��������!7�)4��,%"4�����!��+� (8��!"��*��
��������!"��*��
�����!��+�������+�
��3 -�$����!��+���-+4�
8����,����"!�8-!�����:�2 ��#� Unit linked *!� Universal Life 
 � 

+���9+���
�������,��"�84:�H���#��������
�8
5�-�#��-!��-!��3���=.�
����-�$�
�����
�8
5�-�#���#��"��*�� *!����-�4�   A=%�3,0=� 9 �#��������
�8
5�-�#���84*�# 
���
5�-�#���#��"��*�� �#�����-�4�-�$�(������2 �#��9��)�� (Bancassurance)�#���,%�5����
���	1,�2 ������"���#�����	1,�2-�$��8���"2�3!2 ���"�8"#�(8�"��������	��(Work in) ���

5�-�#�����(����:�2 (Tele Marketing) ���
5�-�#���#����)2�� (WorksiteMarketing) *!�
�#������$%�E A=%�
���4�37!/�8/#����,.������������3��*��*!���"#����+������/�3�� ���#�� 6 
�8 $��*������� 2550 ("�����,% 1) :��#� ���
5�-�#���#��"��*��)���/�8/#��/7�/+8 ���!�3�)$� 
���
5�-�#���#��9��)�� A=%����
5�-�#���#��9��)����<����/�4����:!��	12�,%8,*!���<����/�4��
)��3��$%�3�%�*!�)��3��4����
�-4*�#!7�)4��843����%��=.� (��:�,% 1.3) 
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"�����,% 1.1   /�8/#����,.������������3��*��*!���"#����+ ������/�3�� 3.). B 3�.�. �� 2550  
                      
5�*��"�3�#��������
5�-�#����39��32 
 
��	������ �����	��	������	���	� ��� ���!������ 

(�#	��	�) 

������� 

(�#���!) 

1. "��*����������� 61,647.12 83.58 
2. 9��)��:��93�"� 8,847.87 12.00 
3. ���(����:�2 1,333.92 1.81 
4. �#�����-�4� 1,317.10 1.79 
5. �#����)2�� 523.28 0.71 
6. �$%�E 88.71 0.11 

 ��
 73,758.00 100.00 

�,%3�:/3�)3�������,��"*-#���������� 

��:�,% 1.3  */8�/�8/#���#��������
�8
5�-�#�������,.��������,��"��*�� �� 2550 

�,%3� :  /3�)3�������,��"��� 

1.1.1 �������!8��"��8����,.����9��)��:�1���2 ��<��!�-4�������-��3�:�
��1��!$��
A$.��������,��"�,%�84���(���2��.�84��)��3)+43)��� *!������3���:�2�,%�!"��*��/7���#����
;��������4���9��)��:�1���2  

DPU
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1.1.2 �(���������
��!�,%��+��"�-4�74����������,��"�5���,.��������,��"�������/5�-���
��39��32�������,��"�,%3,)��3)+43)���������#� 10 �� ��-����<�)#���4
#��/5�-������)�8)5���1
��	,�����84����+))!���
5��� "�3
5�����,%
#��
��� *"#�3#���� 50,000 ��� /#��!�-4�������
��3��.��74�������������8�3A$.��������,��"�:�%33���=.�  

1.1.3 ����,%9+���
�������,��"����843,���:�H���!�"��1J2�-3#E�:�%33���=.� �:$%�/���)��3
"4�������������������"4��$%����*!�/0�����12���	
��
��*"#!��#����!� ��#� ��39��32
�������,��"*���5�����,.����������)��.��8,�� -�$���39��32�,%��i8(���/�-43,����!$��84�����
!��+��:�%33���=.� �6"�3  

1.1.4 ���:�H���#��������
�8
5�-�#���-3#E�:�%33���=.� ����-�$�
����4�#�����
�8

5�-�#��(8�"��*���������,��"*"#�:,����#���8,�� (8�-��3��:�%3�#������#��9��)��:�1���2 ��4
�����������#�����(����:�2 �������#����)2�� -�$�*34�����%�����#���4��/�8��A$.�  
 
��� 

��*�8!4�3�,%��$.��5���� ���� ������"��8����,.�����;����!� ���/���/�+�

����
��!  ���:�H���!�"��1J2���7����/��)4�*!������������������,%-!��-!��3���=.�  
�:$%��-4)���)!+3�!+#3��K�-3��  *!�"��/���)��3"4����������������,%-!��-!��3���=.���.�  
�5��-49+���
�������,��"�,%�84���)��3/��
*!���<�����!$���������3�-4*�#�74�,%"4�������3�,�
���-�=%�A=%���
3,�!"#������!,%��*�!�:j"����3�������3  *!��5��-49+���
�������,��"3,
������������<�*-!#���83������3
���������3���=.�  8����.�
=��#�
��=�	�0=�()��/�4��
�!"��*�������3���7�*���������,��"*��/�/3���:�2�3$%����,����,������!"��*��*��
;�����
5���9��)��:�1���2  :j"����3*!�� 

���,%3,�!"#����"�8/���
������!$��*�����
��3������������������"��+���:3-��)�  �:$%��/����<�*�����������!$���7�*�������
��3�����-4*�#�����������"��+���:3-��)�*!���<�*�����������5���:�H���7�*�����
�!�"��1J2�������,��"�-4"��"�3)��3"4���������������3����%��=.� 
 
1.2 ��,-.��!���/����	�01�2	 

1.2.1 �:$%����)���-2:j"����3*!�� 

���,%3,�!"#����"�8/���
��3������������������"
��+���:�������3����*���������,��"  

1.2.2 �:$%����)���-2���,����,���!"��*�������3���7�*������������,��"*��/�/3
���:�2 �3$%����,����,������!"��*��*��;�����
5���9��)��:�1���2  

1.2.3 �:$%��/��*������������3�����-4*�#�����������"��+���:3-��)� 
 

DPU



 6

1.3 �����,�	�01�2	 

 �������*!��!+#3"����#���,%��4 )$� ��������,%��4����������;�����
5���9��)��
:�1���2�,%��<�:��93�"�������	���������,��" *!���<��#��������
�8
5�-�#���������,��"*��
/�/3���:�2   ����"��+���:3-��)� 
5���� 400 ���  ���� :.�. 2550 8���,. 

1.3.1 9��)����+���: 
5���8(3-���)��<��#��������
�8
5�-�#���������,��"��� ���	��
��+���:�������,��"
5���8 

1.3.2 �3
.9��)����+����  
5���8(3-���) ��<��#��������
�8
5�-�#���������,��"��� 
���	����+����*��A#� �������,��" 
5���8 

1.3.3 9��)�����:�1���2 
5���8(3-���)��<��#��������
�8
5�-�#���������,��"��� ���	�� 
���:�1���2 ������2)�!kl �������,��" 
5���8(3-���) 

1.3.4 9��)����+���,��+9�� 
5���8(3-���)��<��#��������
�8
5�-�#���������,��"��� 
���	����+9�� �!����A2 A,.:,.�������,��" 
5���8(3-���) 

1.3.5 9��)��9���" ��<��#��������
�8
5�-�#���������,��"��� ���	�� 9���" ������
�,��" 
5���8 
 

1.4 ��!4���/����	���	�!5�#��� 
1.4.1 ����0=�:j"����3�����3(8���3*!�*��(�43��������3�,%��!,%��*�!������

����������#���,%��"��8����,.�����;��"%5� 
1.4.2 ����0=�()��/�4���!"��*�� *!�)��3�/,%����������3����*���������,��"*��

/�/3���:�2  
1.4.3 ����*������,%��<�����!$���������3����  �:$%����(���2���������� 

 

1.5 �6�	
0�7�/  

 89#�����!��� (Insurer) 
�8"�.��=.����7����	��
5���8  �5�-�4��,%�����3�743,)��3���/�)2
��4��#�3�����8�����/#���m!,%�  *!������3�����:$%��5����-4����+))!�,%���/�)��3�8$���4��  
����1,�,%�+))!���)��840=�*�#���3  -�$�)��"�3�5�-�8���/�����,%"�!���4 
 89#��	��!��� (Insured) -3��0=� �+))!�,%*/8�)��3
5�����4��#�3�!+#3(8�A$.���39��32
�������,��"  3,-�4��,%"4���5�����,.�������"�337!)#��,%�84/������4 
 89#�����!4���/ (Beneficiary) "�3���3�!�n-3��*:#�*!�:�1���2 3�"�� 862 
-3��0=� �+))!�74:=�
��84���)#�/���-3�8*�� -�$�
5���������-4��4 ����1,�������,��" -3��0=�  

DPU
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�+))!A=%�07����+��4����39��32  �,%���	��
�
#�������,%����������-4���3$%�3,)��3�/,�-�����8�=.�  
8����.�  �74������(���2*!��74�����������
��<��+))!�8,��-�$��3#�6�84 
 ��� ���!��� (Prenium) )$�  
5���������,%�74���������"4��
#���-4������	���:$%�A$.�)��3
)+43)����,%
��84���
������������,��"  
5������,.�����������,%���	����,����6�
���74���������

�"4��3,
5�����:,��:����)#�"4��+�������������������������,��"������	�� ����5������
���	��  A=%�
��=.���7#������/��9���:���85��������*!��!"��*��
�����!��+�������	��  ��,.�
�������,%���	���5����/�����*�#���������.�  
�"4���84���)��3�-6����
���������,���:$%�
:�
��1�)��307�"4��"�3-!�����)5���184��)1�"��/"�2��������� 
 ��
:��
/��!������6, (Insurance Policy) ��<�/�����,%���	������������-4*�#�74���
������  *!�/�����#�
�
#������
5����-�=%��,%���+��4����39��32  �-4*�#�74������(���2����1,�,%
���8���"�3�,%���+��4��/����  
 ��	�����6������	��!��� (Sum Insured) -3��0=� 
5���������,%�74��������� 
#���-4�3$%��74
����������/,��,��"  
  
 
  

 

DPU



����� 2 

���	�
��
�������������������
 
 

2.1 
����� 
�����	����������� !"��� 
2.1.1 �����	
���
������������
� 

 �����	
���
������������
� (Life Cycle Theory of Consumption) -./��������0
123�
456��78�2	-9��:9
;��<=>
8�?
� @
�
 A�2��	 B@77
-	>�8�� (Franco Modigliani)  @2>-�
�<� 
H@��7 (Albert Ando) H>K�
�
�<7 ��LB-�
	�< (Richard Brumberg) O7P-;�@H���
7�?�B	2��78
B@77
-	>�8��0   -�
0B-;�@Q>�
��26�H�?.R �.9.1954 V50�B�H���
7�?
 	
��27;
���4@���2�-�W@��K=�?
�
	
���
���	2�	
�@@B��4XK�74XK=�50�  ;K�P@�Y5���
B18
8
B��0�K�=P���>Z-.[
=B
84@�
	
�	�K�
8	
���
����>@7�������
��
8��P4P@�\
	274@��
8O7P =�W@��218
	���0�
7�?
�KO7P�2�
�>@7�20�@
8Z428  V50�	]=B
8��
B�?
  �K72�	
���
���4@���2�-�W@�B
O7P456�@8L?	2��K72��
8O7P��
��7-�>
.^��Z�2�-�?
�26�   H�?82�456�@8L?	2��
8O7P��0-4
�
7�?
�KO7P�2���@�
��7P�8 
 �
B;BB�
:
�4@��
8O7P4@������	
���
������������
�  	
�	�K�
84@��
8O7P
H>K	
���
���4@��Z��>��>2	�XK��0H;7�O�P�� 

����� �2_ �2	����
�

�
�

t (@
8Z )0

C

Y

Save

borrow

dissave

A B T

 
 
�
1��0 2.1  ������2_�2	����
� 
 
��0B
:  B=-9��:9
;��<: �
	�����;L?��8�
8
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 �
	�L.;BB�
�=P@
8Z4284@��Z��> �W@ OT ���?��@
8Z�P@8b�Z�>82�B��
8O7P�0\
 H�?-BW0@
�Z��>@
8ZB
	456� (@8L?���28	>
���) -4
�KB��
8O7P;L�456� H>K�KB��
8O7P>7>�-BW0@B�@
8Z@8L?���28
;L�@
8Z    	
�	�K�
8�
8O7P�>@7�20�@
8Z4284@��Z��>�5�B�>2	�XK-=BW@�-;P���P� y ;?��	
�
	�K�
8	
���
����>@7�20�@
8Z428�KB�>2	�XK-=BW@�-;P� c V50�-@�8�>
7�
	VP
8BW@456�O.�
�7P
�
4�
BW@ H;7��?
 ���?��@
8Z�P@8 �K72�	
���
���4@��Z��>�K82��0\
 H�?�K72�	
���
����K;L�456�
-�W0@8b-BW0@�Z��>B�@
8ZB
	456� 
 -BW0@-.��8�-��8�-;P��
8O7P y 	2�-;P�	
���
��� c �K-=]�O7P�?
 ���?��@
8Z�P@8 �Z��>
�KB��K72�	
���
���;L�	�?
�
8O7PH;7��?
���?���26�  -4
�KB�	
�@@B-./�>� (dissaving) =�W@B�
=��6;
�-	
7456�  H�?-BW0@@8L?���28	>
���  �Z��>�KB��K72��
8O7P;L�	�?
�K72�	
���
���  �\
�=P-4

;
B
�Y@@B��218<O7P  ;?�����28;L�@
8Z  �
8O7P4@��Z��>�K>7>�  ��4XK��0	
���
���82���;L�
@8L?  �Z��>�K	>2�B
B�	
�@@B-./�>�@�	��26�=�50� 
 ��H�?4@�A^�	<�2�	
���
���  B@77
-	>�8��H>KH@��7  B�;BB�
:
��?
 	
���
�����
��7-�>
 t �K-./�A^�	<�2�	2�BL>�?
.^��Z�2�(present value) ����7-�>
  t 4@��
8O7P��0�KO7P�2�
�>@7@
8Z428  �20��W@  

   t tc = k(PV )    ; 0 < k < 1  kkkkkkkk..kkkk.. (1) 
 
 �78��0     tPV  =   BL>�?
.^��Z�2�����7-�>
 t 4@��
8O7P��0�KO7P�2��>@7�20�@
8Z428 
 �
8O7P��0�KO7P�2��>@7�20�@
8Z428 .�K	@�7P�8�
8O7P��0-	
7�
		
��\
�
�H>K�
8O7P��0
-	
7�
	;
���218< 

2.1.2 �����	
�@@Bl 	
�>��Z�(Saving l Investment Theory of Interest Or Real Throry) 
 �������6-./�	
������BH���
74@��2	-9��:9
;��<;\
�2	�>
;;
� �W@@2��
7@	-��68
�KYL		\
=�7�78 Demand H>K supply =�W@@
�	>?
�O7P�?
  .^��28��0-./��2�	\
=�7@2��
7@	-��68
�26�.�K	@�O.7P�8 

2.1.2.1 Demand ;\
=�2�-�
��Z���0�K��P  B���
B;2B12�p<���
9�
����	2�4P
B	2�
7@	-��68 

2.1.2.2 Supply 4@�-�
�@@BV50�B���
B;2B12�p<�
�-7�8�	2�@2��
7@	-��68 �78;
B
�Y
H;7��=P-=]�Y5��Z7	\
-�
74@�@2��
7@	-��687Z>8�
172�HQ��
172���6 
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�
1��0 2.2  H;7�	
�	\
=�7@2��
7@	-��687Z>8�
1 
 
��0B
:  B=-9��:9
;��<  �
	�����;L?��8�
8 

  
 	
��27	2�4@�-;P� Demand 	2�-;P� Supply  ��0�Z7 a �26��K	?@�=P-	
7@2��
7@	-��68��0
-./�7Z>8�
1����0��6H��7P�8 R H>K Q �W@.�
B
X-�
��Z���0�P@�	
��26���6-�W0@��
		
�@@B H>K	
�
>��Z��26��=P�27-./�;?��=�50�4@��
8O7P =�W@Q>Q>
� V50�-./�.^��28��0B���
B-	�08��8�	2�;
��P
H>K
��
	
���0H�P��
�  -�
�5�;
B�Y-��8	�������6O7P@�	�W0@=�50��?
 �������0H�P��
� (Real Theory)  
 -BW0@1
�
�X
Y5� supply �
�7P
�	
�@@B �78�
�-9��:9
;��<�26�-�
�KB�4P@;�Z.��0�?
 
	
�@@B�26��KB���
B;2B12�p<O.���
9�
�-7�8�	2�	2�@2��
7@	-��68 �78��0��-�
�26�B2	�K@@B
B
	456�-BW0@@2��
7@	-��68;L�456�  �26���6-./�-1�
KH�?>K�Z��>B���
B15�1@���?@	
���
�����
.^��Z�2�  H>K@�
��OB?-=BW@�	2�  H�?�K=
��
B15�1@����	
���
�����.^��Z�2�H>K4@�
@�
���?�B	2�  �W@8@B@@B=�W@>K	
���
����2���6H�?O7P�2�	
��7-�8-./��2�7@	-��68��@�
�� 
V50�B
	1@��0�K�7-�8	2�Q>.�K�8��<��0-;�8O.��@7��  H�?@8?
�O�82���B�4P@��PH8P���0�?
 ��	
�@@B
�26��Z��>�KB��\
�����0	\
=�7O�P����@8L?H>P�  8
0�@2��
7@	-��68;L�B
	456�-�?
�7 -4
-=>?
�26�	]�K8
0�
@@B-�
��P@8>�-�?
�26��26���6-1W0@�=PO7P-�
���0	\
=�7-@
O�P 
 ;\
=�2���;?��4@� Demand -1W0@	
�>��Z��26� 	]�KB�4P@;BBZ�
��0�?
-9��:	
�B�:
�K
����0 B�	
��P
��
�-�]B��0 �
8O7P H>KQ>Q>
�	]�K����0  72��26�	
�>��Z��KB���
B;2B12�p<���
�
���	2�4P
B	2�@2��
7@	-��68  �78��0-�
;
B
�Y��P	�	
�>7�P@8Y@8>�(Law of Diminishing 
Returns) -./��2�@p
�
8 	>?
��W@ ��-�
�K�P@�>��Z�B
	YP
Q>�@�H��B�B
	   V50�Q>�@�H����0

@2��
7@	-��68 

a 

S = supply of saving 

	
�@@B 	
�>��Z� 
Q 0 

 
R 

D = demand of investment DPU
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�K�\
�=P -	
77Z>8�
1	
�>��Z��26�B2	���	2�@2��
7@	-��68 72��26��5�@
�	>?
�O7P�?
 -BW0@
Q>�@�H��;L�	�?
@2��
7@	-��68	]�K�\
�=P	
�>��Z�-1
0B456�  H�?-BW0@>��Z�-1
0B456���4XK��0
-9��:	
��26�@8L?��;�
1����0	]�K�\
�=PQ>�@�H���26�>7>�O.-�W0@8b  ��	�K�20�-�?
	2�@2��

7@	-��68  H�?�KOB?8@B�=P�0\
	�?
@2��
7@	-��68-1�
K�?
�2	>��Z��26��KB�	
�Y@��2�@@	�
	�>
7
�Z�O. 

2.1.3 �������
B15�1@����;�
1�>?@�(Liquidity l Preference Theory of Interest) 
 -./�H���
74@� Keynes V50�B���
B-=]���0OB?-=BW@�	2��>
;;
���0�?
@2��
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H>K supple 4@�-�
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�YW@-�
�O�P-v8b=B
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�YW@-�
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8 
2. -1W0@;�
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� 
3. -1W0@	
�-	]�	\
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 V50�H����
B�
7��6;
B
�Y@p
�
8O7P�78��P-;P���
B�P@�	
�YW@-�
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Preference) V50�B���
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B
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�>K->8Q>4@�.^��28	
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���0H�P��
� H>K
�
		
�@P
��?
	
��
7	
�X<-./�.^��28��0-./��2�	\
=�7 demand 4@�-�
� V50��@	�
	�KB�Q>�
	
@2��
7@	-��68��0-.>�08�H.>�O.H>P� 82�456�@8L?	2�	
��
7	
�X<��-=�Z	
�X< =�W@�2�H.�@W0�b7P�8 

2.1.4 �����	
��
7�K-�@2��
7@	-��68(The Regressive Expectations Model) 
 -./��������0@
928H���
74@� Keynes V50� James Tobin O7P�\
B
@p
�
8-1W0@�=P-4P
��
-	�08�	2���
B�P@�	
�YW@;�
1�>?@� (Liquidity Preference) �
BH���
74@� Keynes ;
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�2z
4@��������6	]�W@ ��	
��27;
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�YW@-�
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�YW@;
���218<�
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�-�
��26� �Z��>�K
YW@-�
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�
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�
�
;
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�	
�-�
��K�	>� V50�;
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���218<�
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�
-�
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K -BW0@@2��
7@	-��68;L�456� 	
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72��26��Z��>�5��\
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7�K-��?
@2��
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4
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����27;
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7@	-��68��6O7P�2�	
��
1
	�<�
�
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2.1.4.1 �
BH���
7�����	
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7�K-�@2��
7@	-��68��6�Z��>�K->W@	�K=�?
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�YW@
-�
�=�W@YW@=>2	��218<@8?
��7@8?
�=�50�  H�?����
B-./���
���	>Z?B;
���218<��0�Z��>YW@O�P�26�
@
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�H>K=>2	��218<  	>?
��W@ -./�	
�	�K�
8	
�YW@;
���218<=>
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�
OB?��?-�
�=�W@12�p�2��@8?
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�=�50� H���
7��6�5�OB?;@7�>P@�	2���
B-./���
� 

2.1.4.2 	
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7�K-�@2��
Q>�@�H���
		
�>��Z���=>2	��218<�
BH���
7	
�
�
7�K-�@2��
7@	-��68�26�  -./�	
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7�K-�O7P@8?
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2.1.5 �������
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� 
 -�B;<  ���
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7
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2.1.5.2 	
�YW@-�
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  ee  = er = g ee kkkkkkkkkkkkk.kkkkkk.. (1) 
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�VW6@4
8=>2	��218<�78-v>�08��0�
7�?
�KO7P�2� 
 @2��
Q>�@�H����0�
7�?
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7�?
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 ee  72��26�Q>�@�H����B��0�
7�?
�KO7P�2� �W@ 

  eR  = B ee   kkkkkkkkkkkkkkkkkkkkk..(2) 

 -BW0@H���?
 ee  7P�8;B	
�(1)�KO7P 

  eR  = B(r + eg )    

 �78 eR  = Q>�@�H����B��0�
7�?
�KO7P�2� 
 H�?-�W0@��
		
�>��Z���=>2	��218<B���
B-;�08���0�KOB?O7P�2�Q>�@�H���
B��0�
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��:
�4@�@2��
Q>�@�H����0	�K�
8O.�
	
�?
-v>�08  ;BB�
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3.1  ��
�#�
�$ �	
����	������� 
 ���������	
��
 �'��4�� 5������
��������������'�����"#��������
��5��5��"��
��������  ��
������ ���
�$����#3�&����	
��
3���������������'�����5��)���������
��8������
��������������"#�3����������3���������������'������������&�  6#���9����������:�
�����'
�)
��������	���������'���(� ���������'�)
�����
����#3�&�5��)'�	��  1���(��;$$����'
���-���
�
��2����/�����������	
��
  ��2�)�����'�:�
�����'�)
����  �
�$����#3�&�5��	
��
3��)'�	�� 
 
3.2 ���������
�&�'��
$ �	
����	������� 
 ���������	
��
����'3�&��'������'�7)�'�����<'�5���  )'����&�  ����#��������3��

�#
��������������95����
���&�  �%����6#�(	�����(���2�0����(�����#�����1���
���(	�
�������  $����������2�����)
���	
��
�0����)
���6	�  '
6���)�
�$����)� ������
���(�'��)�'�� 
$���$4��	
��
  �'������)����7-#����������#3�&��������&�$��"#�'
)'��'	������)'��'�����  1���

�&�����(�'��������#��  �����9����=/  (�
�����)
-9
���/�
� 18 "#�$�#���5��)���'
)�������-3�&�  6#�'
����
�����(����)�������-��������3�����#�0�����5��	�������
���2�
)'�	��3��)'��'  6#��'�������@���)'�	���
��#�����"��������(�������)�����4��5�����'
��
6#�����������  ����)��)�*"'�"#�3���(��������)'����A
�'  )'��'	��������&�$�"#��%���������
"�$���)�������-��������  ���������3��)'�	����&�B6#��:�
��(��
�'$%���������
���
����A�"��
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$��)'�	����&��'#  )'��'(�����#�)'�	��	������3��)'��'�
����)��-$�"#������	#�	�$��
���)���')�������-(�����#��������
&  $�#�������'��(��5��)'��'(�$%����)'�	���� 1 ���#- 
)�
�����- ������&�  6#�)'��'��2�������/�����"��  5��$�#���5����:�
�������
������'"����&�(����2�
'�#�5�������3��)'�	��������)�	�
����'$������#�����(��������  (�37��#
������'���
$�������#��������'#5����A��
����A���������$��)'�	�������'"��(�'�
��"� ����D���
���$
)�������-3��)'��'	������(�'��������#�����&���&� ��2���$���'�
�'
������/7��	���#
�����
���E�����$)�������- 
 ���'�7�< 0.9.2298  �������� 200 �< $��,����$(����3�����E�����$)�������-
"#���������������5��"3(����2�,����$������	
��
'��3�&�   6#�(	��������������	�����������
������< (Annual Term Insurance)   �����2���2�������'����	
��
	��������<
���<  6#�"#��%���#��
��
#����
&�������5
�
������
�'����3��������������  ���� 20 U 49 �< $�
����)
���
&��������<�� 5 
���#-  
��������������� 100  ���#-  ���� 50 U 60 �< 
����)
���
&��������<�� 6 ���#- 
���������
������ 100  ���#-   �'�����������<�����B���"'�'
����)
�	
��
 ���/������)4�����
�����������A
��������������
&�������  ������	
��
#�������1������������(�	�����������������<��&�  '�"#�'
���
�%���7��
��#����
&�������6#���9����
��'�7�5
�������(#   $������(����/7��������0���3��

��  6#����	
��
��2��#�'0��'�������
�$����������	
��

�'�����9�/89�)
�- 
 (������#
�������&�  ����$')-  #A�#1��(James Dodson)   ����%���7���'
	����)
��3��
����=/"#�������'��#���������7]-,����$������	
��
(�����)'������3�&�   6#���#��������)
���(�����'
3��������������
�'��
��'�7��
����$���2�"�"#�   :���&�   ����$')-  #A�#1��  $��"#�����'�%����
)4�
����
��3��	�����#���
������9  ��������< �.9.1728(0.9.2271) 4�� �.9.1750(0.9.2293)
'���2�'�
�8��(�����%���7����
��'�7�5��$�#�%�
������
��'�7�3����2����&�5��  5��
�%������
��'�7�3��	�����#��#�������'��%���7��
����
&�����������5��#������  0���'
���"#����3���%���#�D��7]-(����������,����$������	
��
"��#��
��"��
& 

3.2.1 ���������	
��

���#%�����(�5��)���7-  6#�)'�	��	��������1������5������'���'

)'�	���)
�	
��
�� 

3.2.2 "'�$%���#�095�����3��)'�	�������������� 
3.2.3 �'���)'�	����(#4��5��'�7���'   )'�	������B��&��'#'
)����:�
��$�������(��5��

��������3��)'�	������)
�	
��
 
3.2.4 "'�'
�����;��� 
3.2.5 ���'
��	
0�)
������
���5��)
�

����)
���
&������� ���0��'0��9/ 
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3.2.6 $���������������(�5��	�����������������< (Annual Term Insurance)  ����5��

��#	
0$%���#( Limited Payment Lift Insurance)����5��������
��#	
0"'�$%���#����(Whole 
Life Insurance) 
 ����$')-  #A�#1��  "#�4��5��'�7���'�)
������
�$��%��=/D
5������%���7�
�"#� 
����'�%�"����2���5������@���
�,����$������	
��
#���
���� 1�����2��
�����)
�#�����������)%�����
	�����#��  5
�(��< 0.9.2305(�.9.1762)������� )4����������	
��
5���5���A�%����#3�&�(�6��  
"#��%�����=/D
5������%���73�� ����$')-  #A�#1��  ���'�(	�������,����$������	
��
�
�
4��
���
�'������7]-5��5��5�� 6#��@���
�
�'�D��**�
�3�� ����$')-  #A�#1�� ���������  
)4�����
�$#����
����2�5���5���
����#3�&�(�6�� '
	������ �����
�����  5�)	�����1- 61"1��

& ��h  
��##�� (The Equitable Assurance Society of London) ����5���
����
�&� )4����5����
&���
��',��'-(�5��
��#	
0�0
��5���#
��  (���
��#����
&�5
�
������
�'����3�������������� '

��������',��'-(����������������#4��"����2�����8�� 1���"'����'
����%����'����� 6#�(�
��',��'-����	��������������� ����$%�������������������
&������� ����	������������������
���6�	�- 5��'
3�����'�����'�
�$�$�������	#�	�(��
�'$%����������������� �� ���������
������4��5��'�7���'���'���(#�A
�' 
 ���5
�)4���������
�����m  �%����#3�&�  9����	������	
��
(������9����=/�A����'
)#() ,����$"#�#%�����"�#������'���������������#��A�  6#��
�)4����5����
&#%��������#�������
��	�  $��"#�'
�����������5��"3
��#���� $��$��*�����������2��
����'3��	������=/ ����@
	����)
����2��
���������&�	������=/5�����,����$(������9(�����
��  
��#$�4��)���8��'�����A
�0����A�5��0����9��/�,����$������	
��
$��)4����#�������  �;$$�����
&����@���)4����5����
&
�����#%�����,����$����#���0����
�����53A�(�����')4����������	
��
(�����=/��6��  ����$����&��A'

���/��������	
��
$#����
���0��'3�&��
� �	�� ���/��0���#A��	
�������� �� $%���#  $#����
��(��< 
0.9.2391 (�.9. 1848)  "#�'
������$�������%���75������	
���	�*(�#���������	
��
 
��#$�
�����'������,����$�
��������(�����������	
��
'����'�������/������ "#�'
�������������
��
#����
&�������(��#
3�&� 5��(�����6�	�-)��)�#  '
���$��������;��� 5���0��'5��������3�&��
�
'��'��  '
5��
��#	
0 5��
��#	
0$%���#����	%�����
&������� 5�����'	
��
 5��5���%���*
��������-��������'���������� 50,55,60,65 �<  1�����������2��<5��5��������
�9�)
�-������	
��
�
�
)'���7-5���
�)�#  ��2��������������'�$��*��������(�,����$������	
��
����������3���(�
����
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3.3 	
����	�������(����&�)*�� 
 ���������	
��
(������9"��  ����'3�&����& �5��(�)'��0�����)'�#A$0��
$��$�'������$�����������	����
� 5 5���������
�6�)����-  6#�'
�7�]�
���0�7�	�-$�������9
����=/�3��'��$��*)��4�"'
�
(�#���������������� �������������9
�����  (�37��#
�����
���/�� ��o)
-���	
�
�o� 1�����2�
��5��'
8�����
���������/�������� ��5����������#��  �����9
����=/  "#�3�����(���7���
�%�������3�&���������  �0���3�0����'��	���*�
������,����$
������	
��
(������9"����'�3��"�#���  ���
�&�5
���&�'������������$���#������������
	
��
�A����'50������  5����2��
����$��(����#��$�����5��3����	������(�*�"�� 
 
�&�5
�����)'��0�����)'�#A$0��'���D������$�����������	����
� 6 ,����$������	
��

6#����/��	��
���	�
�(������9"��"#�3����0��''��3�&� $��6��#�����(��
���D�'��50��5��
0�7�	�-  �0���(	���������
��������������� ��5�����������	
��
3�&�  �'�������
� 1 '����' 0.9.2476  
$��0����	��**�
��
&����%�(�����/�������� ���
�$���p##%�������$���$�
���"#�������*�
$��
��8�������  6#�'
�������0�7�	�-5���'���'�����#	��6#�
��  1���(�)'����&�'
5
����/��

��������9������&��
�������,����$������	
��
  5 ���/�� ���  

- ���/��������o)����-�"�hq5�)	�����)- 
- ���/��5'���h��$��-����-"�hq���	�����)- 
- ���/��"	�������#��-"��
��- 
- ���/��1��"�hq5�)	�����)- 
- ���/������
��-��	���5��5�)	�����)- 

 $�����������#)����'6�����&��
� 2 ���/��������	
��
#�������
������#��������$���
"�$�����������p#6���)(����"��"#����
�&����/��������,����$������	
��
3�&���2����&�5��(��< 
0.9. 2485 '
 2 ���/�� ������/��"��������	
��
   5�����/��"���9�/8��$������ �� 
 ����)����'6�����&��
� 2 ��
��� ���'�7�< 0.9.2488 '
���/��������	
��
3��

��������9�
�
������#��$���"��0��� ��)����'"#������3��'�#%��������(�'��0
�� 2 ���/��
������&� 5����������$���"#�"�"'�����A���#"�(��< 0.9. 2492 �0���"'�0�($������"3���
�������
��������0�7�	�-�%���#3�&��0���(	������������'5��,����$������	
��
 5
�(�
37��#
������A'
���/��������	
��
��p##%�������$���3�&��
�����5�����&��
���2����/��3����"��
5��3��
��������9 $��������(��< 0.9.2494 ��8���
���)������''�(��'
���$�#
�&����/��������
	
��
3�&��
� ��'���/��������	
��
�
�'
������&��'#(�������&� 13 ���/�� ��2����/��
��������9 2 
���/�� 
��'� 0.9. 2507 ���/���������������	
��

���������'��$���"� ������$�����)����
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 ���3�#���  �%�(�����	�	����#���'"'�'���($(���$���������	
��
  ���)���������
��$%����
���4����',��'-
��#$��������������  ��8���$��$%���2�
�����'�
�����0��������',����$������
	
��
(������(� ����
�'
���')'#��#����������  5���0���)�������''���($(��������	�	�'������3�&�  
6#�
��0����	��**�
�������	
��
3�&��'��� 0.9. 2510 5�������9(	�
�&�5
�����
� 15 �'/��� 0.9. 
2510  ��2�
��'�  ��&����(��)%������������� ��  ��������'#�5������(���	�#(�#������������
5��3����',��'-  5��#������������
�#��� 

  
3.4 ���&,�$ ����	������� 
 �;$$�������������	
��
"#�$�#5������5�������2� 3 ���� � 
�'���/7�
��
4����)��-3������'������������#���
& 

3.4.1 ���������	
��
���� �)�'�* (Ordinary  Life  Insurance) 
 ��2����������	
��
���������
�'
$%���������������������3���)�� 
�&�5
� 50,000.-  3�&�
"�  1�����'��)%���������
�'
���"#���#���������3�&�"� (�����'���'����5�������'���0�-  
���$���
&(����0�$��7����$�����%�������	
��
����"'� 3�&��������#���0���$3����/�� 6#�'

��������(����	%�����
&���������2�����< ��� 6 �#��� ��� 3 �#��� ��������#�����$$�'
���
��$
)�3 �0����"'�
��$)�3 �0�A"#�  ���������	
��
���� ��
&'
��
����
&�������)��5��)�'��4��A�
��
&�0��9/�0��'"#� (���7
�
������������� ��)�3 �0"'�#
����'
��	
0�
��)
��� �� ���$���
&������������
���)�'��4����0���	%�����
&�������"#�#��� 

3.4.2 ���������	
��
���� ���
)�����' (Industrial Life Insurance) 
 ��2����������	
��
�
�'
$%����������������� ��
�%�  
�&�5
� 10,000.-  4�� 30,000.- ���  
1�����'��)%���������
�'
���"#��������4�����"#�
�%�  �0���	��������(������
�'
���"#�����)�'��4�%�
������	
��
"#�  ���	%�����
&���������$$�	%�����2�����#���  5��"'�'
���
��$)�3 �0  ���
������	
��
���� ��
&$�(�����'���'����5����'���0�-  5��'
�������������  4��������������
�)
�	
��
#���6�� ��"3��$A�
�',��'	�
�  ���/��$�"'�$����������������(��  5
�$������
&������� ��
�
������������� ��"#�	%���'�5�����&��'#  ��
����
&�������	
��
���� ��
&$�
�%��������� �)�'�*
5��"'�'
�����A���
&��0��'0��9/  ��'��&�������������"'�)�'��4����0���	%�����
&�������"#�#��� 

3.4.3 ���������	
��
���� �����'(Group Life Insurance) 
 ��2����������	
��
�
���',��'-�����$�'
������������	
��
���'���
�&�5
� 5 ��3�&�"� 
)���(�*�$���2�����'3��0���������/�����	� (����0�$��7������������$'
���
��$)� �0
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����"'�
��$)�3 �0�A"#�3�&��������#���0���$3�����/��  )%�������
����
&�������	
��
���� ��
&$�

�%�������&����� �)�'�*5������ ���
)�����' 
 
3.5 �.����$ �	
����	������� 
 ���������	
��)�'��45���"#���2� 4 ���5��#���
& 

3.5.1 ���������	
��
5��
��#	
0(Whole Life Insurance) 
 ��2����������	
��
�
�(�����'���'����
��#	
0  6#������������6�	�-$�"#����
$%������������������'��������������� ���)
�	
��
  ��
4����)��-���&��
��3��������������5���
&
�0��� $�#���������)%�����	��������5������
�����(����'��������'��������������� ���)
�	
��
  1�����'��
)%���������
�'
���"#�����  �����������  5��'
��
����
&�������
�%�����5��)�)'���0�- 

3.5.2 ���������	
��
5��)�)'���0�-(Endowment Insurance) 
 ��2����������	
��
�
����/��������	
��
$�$���$%����������������� ��  (��5��������
������ ���'���'
�����������
�')�**�  ����$���$%����������������� ��(��5�����������6�	�-5�����
����������
��)
�	
��
�� ��(����������
��%���#"��(������� ��  ���������	
��
5��)�)'
���0�-��2�����)'�)������������������'����	
��
5�����)�)'���0�-  5
�$���2�(����5��
3�����)�)'���0�-'������������'����  )%����������'���0�-$���A�"#�	�#(���7
�
�������
������$�"#������������'������)�**�  ������	
��
(����5���
&��'��)%��������'
���"#�)��  ����
�������  ��������
�
������)����������9��/�(�������
��������
�
������)�)'���0�-  6#�'
��
��
��
&�����������3���)�� 

3.5.3 ���������	
��
5������"#����$%�����<(Annuity Life Insurance) 
 ��2����������	
��
�
����/��������	
��
$�$�������$%���������������������)'�%��)'�  
(��5������������������#������5
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��

,�.��!����$-*������0���	04/�����������%���	
��

 2�)�
�������
�!����$-*�������
��	������������#H� 5 3.�� �	��

 

1. ������'7
�K��  ���,�.  �'�  ��)/  34��L�'  �$�	���������  �� 
'  ,�$��)��� 
2. �#�
)���
)���0��,����������!�,��"��#�$����	�&�����'�(! )*,�$���

���,��#�$�	� 
�!0 
3. ����!����$-*�	��($,�$'O0!���������������!�,��#�$�	� 
�!02�)% �

,��������2��!0 (Logit Model) 
4. ��3������3	�'	�&*�$-�.��0	�,#�  
5. ������'O0!������������!�,��#�$�	� 
�!0 ���,�. �-0/���
������!�,��#�$�	�

 
�!0  ,�$��.�����!�,��#�$�	� 
�!0 
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4.1 �����������
� 
 
0�����
� 4.1 ������0	��).�����,��0���'�,�$34��L�' 
 

 
��
��
� 

��� 
Total 

���$
% ���&'() 

*�+ 
98 112 210 

24.50% 28.00% 52.50% 

���� 
80 70 150 

20.00% 17.50% 37.50% 

,%		-��%�. 
6 5 11 

1.50% 1.30% 2.80% 

&%.
��
) 
5 6 11 

1.30% 1.50% 2.80% 

&��
% 
2 16 18 

0.50% 4.00% 4.50% 

Total  
191 209 400 

47.80% 52.30% 100.00% 
 
�
���:������3����� 
 
 �����������'��.�  ��/.�0	��).��3.��%-�.�#H��'�-�!�  �7�  �����/.�0	��).�� 400 �� 
�#H��'�-�!�  ���)�$ 52.30  3.������
34��L�'23� �!��#H����)�$ 28  ��������
34��L�'
3��3  ���)�$ 17.5    ,�$�
34��L�'-���)  -).�����  ,)��	��)�.  �!��#H����)�$ 4  ���)�$ 1.5 
,�$���)�$  1.3  0������	�   
 3��-�	��'� �)  �����/.�0	��).�� 400 �� �#H��'� �)  ���)�$ 47.80  3.������

34��L�'23� �!��#H����)�$ 24.5  ��������
34��L�'3��3  ���)�$ 20    ,�$�
34��L�' 
,)��	��)�.  -).�����  -���) �!��#H����)�$ 1.5  ���)�$ 1.3 ,�$���)�$  0.5  0������	�(0�����
� 4.1) 
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0�����
� 4.2 ������0	��).�����,��0����)/,�$��)��� 
 

�
%/+� 
�
%0 

Total 
���%	1.
 26 45 26 - 35 45  36 -45 45 46 - 55 45 56 - 65 45 �
		1.
 65 45 

���%	1.
 10,000.- �
� 27 18 4 2 4 1 56 
  6.80% 4.50% 1.00% 0.50% 1.00% 0.30% 14.00% 

10,001 - 25,000.- �
� 44 66 9 7 3   129 
  11.10% 16.60% 2.30% 1.80% 0.80%   32.50% 
25,001 - 50,000.- �
� 3 43 63 37 10   156 
  0.80% 10.80% 15.90% 9.30% 2.50%   39.30% 

50,001 - 75,000.- �
�   2 13 12 5   32 
    0.50% 3.30% 3.00% 1.30%   8.10% 

�
		1.
 75,000.- �
�   2 2 14 8 1 27 
    0.50% 0.50% 3.50% 2.00% 0.30% 6.80% 

Total 
71 131 91 72 30 2 400 

17.90% 33.00% 22.90% 18.10% 7.60% 0.50% 100% 

 
�
��� : ������3����� 
 
 �����������'��.�  ��/.�0	��).�� 400 �� 3.��%-�.�
��)/�$-�.�� 26 Z 35 #[ �
��)���
�$-�.��10,001 - 25,000.- ���  ������� �7� �
��)/�$-�.�� 36 Z 45 #[  �
��)����$-�.�� 25,001 - 
50,000.- ���  ��)/���)��.� 26 #[  �
��)����$-�.�� 10,001 - 25,000.- ���  ,�$ �7� �
��)/�$-�.�� 
26 Z 35 #[  �
��)����$-�.�� 25,001 - 50,000.- ��� �!��#H����)�$ 16.6  ���)�$ 15.9  ���)�$ 11.1   
���)�$ 10.8  0������	� (0�����
� 4.2) 
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0�����
� 4.3  ������0	��).�����,��0���$�	���������,�$�� 
' 
 

 
 

�<+-�	
��
	�
 
Total �-=%��
	�
,�< 

>�?
	1.
�-=%��
	�
 
�
$�1<�
	�
 4�(''
>�� ��)	1.
4�(''
>�� 

�-	���%�/�-	�
	�
 1 1 10 5 17 
 0.30% 0.30% 2.50% 1.30% 4.30% 

��
�
$	
�/�-�1(�
&	(A 1 7 106 18 132 
 0.30% 1.80% 26.50% 4.50% 33.00% 

��-	)
���(�-�/��	A�
) 9 11 123 27 170 
 2.30% 2.80% 30.80% 6.80% 42.50% 

=0�	(A�.1�>-1 8 5 33 7 53 
 2.00% 1.30% 8.30% 1.80% 13.30% 

,�.��
� 5 7 6  18 
 1.30% 1.80% 1.50%  4.50% 

����B   10  10 
   2.50%  2.50% 

Total 
23 31 288 57 400 

6.10% 7.80% 72.00% 14.30% 100% 

 
�
��� : ������3����� 
 
 �����������'��.� �����/.�0	��).�� 400 �� 3.��%-�.�����������$�	�#�!���0�
 
�!��#H����)�$ 72  #�$����� 
''�	������!�	�/������� ��������7������ ���/�	K�!3�-�!�  ,�$
#�$���&/��!�3.��0	� �!��#H����)�$ 30.8  ���)�$ 26.5   ,�$���)�$ 8.30  0������	�(0�����
� 4.3) 
 
4.2 �4��%����%���>��,��,�<���C.
4DAA0�-��0�=(	
�����)(�,��E
	4�<A?
	-�=�
C
�
�
F($%G,�<	
����,��4�<	-�$�1(> 

4.2.1 �#�
)���
)���0��,�������������!�#�$�L�#�$�	� 
�!0,�$��������!�#�$�L�
"��#�$����	�&�����'�(! )* 
 %�����������	
��

 ��7�������!�����0.��G %����������,0.�$&������$�
��7�����
������� �	0����0��,�� ,�$��!����/��
�0.���	� �	��	
��'7��%-�3����4�!����$-*��0��,�����
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,0.�$��!0L	(1*��������!�����/�&������)�.��K����
)��	� ,�$3����4������#�
)���
)��	���� 
����������	
��

�$-���0��,��������_�
�)�#H�#[ 2�)�#�
)���
)���0��,�������������!�
#�$�L�#�$�	� 
�!0,�$��������!�#�$�L�"��#�$����	�&�����'�(! )* 5 &����� �7� 
&�������/���)  &�����'�(! )*  &�������/���
�)/&)�  &�������/���'  ,�$&�����&� �0 `���
&������	
� 5 ,-.� �
��!�	�#�$�	�%����7��
�% � 7����!�	�����)�	� 7��&�����  `���%����
�#�
)���
)�  ������#[,�$��������!��
�% �%���������!��	
� 2 #�$�L��	
���.��	�   
 �����������%���������!�#�$�L�#�$�	� 
�!0 2�)�#�
)���
)���0��,���_�
�)
��)#['��.�   &�������/���)%-���0��,���_�
�)����
�3/� �7� 5,120.-���0.�#[  %��($�
�������
#[�
�% �%���������!� �7� 10 #[,�$��������!����/��
�% �%���������!���.��	� 160,800.- ���`���
���)�
�3/�  ��7���#�
)���
)��	�&������7��G `���&�������/���)�$�
�����3
�)����),�$�
����
�	�����'��$�#H�&������	K�!3�-�!� ��������7�&�����&� �0%-���0��,���_�
�)��.��	� 
4,462.50 ���0.�#[  ,0.������#[�
�% �%���������!��7� 16 #[ ,�$��������!��
�% �%���������!�
��.��	� 213,600.- ��� `���&�����&� �0�
������#[�
�% �%���������!�,�$��������!��
�% �%����
��������.�&������7��G ,�$&�����&� �0�$�
�����3
�)������.�&������7��G%� 5 &�����
�'��$&�����&� �0�#H�&�����%-�.�
�'����#a�0	������.��� ��7���#�
)���
)��	�&�����'�(! )*
�7��G  3.��&�������/���
�)/&)�%-���0��,���_�
�)��)#[���)�
�3/� �7�#[�$ 400.-���  2�)�
�
������#[�
�% �%���������!���.��	�&�������/���)�7� 10 #[ ,0.��������!��
�% �%�������/����
������&�����&� �0  �7� 182,000.-���  3��-�	� ������#[�
�% �%���������!�'��.�&������
��

������#[%�����������$�3
)�#�
)�%���7���3L�'��.��%����% ���!�  ,0.���$���#�$2) �*���
����/������ 
�!0�'!����
�  3.����#�$2) �*%������-).��L��
�	
�  ��
��)�.�	�������#[�
�0��� ���$
��

)#�$�	�  `���3.��%-�.�$0��� ���$��

)#�$�	� 
�!0 6 -7 #[,���,0.���0������,0.�$���&���* 
 3��-�	���������!�#�$�L���!�"��#�$��� ��0��,���
�����	��7�-�	����-	�L��

�����

)�
�����	� 15%  ���#[ '.�. 2550  '��.�  &�����&� �0%-���0��,���_�
�)0.�#[����
�3/�
�����������!�,��"��#�$����	
� 4 #�$�L� �7�"��#�$��� 3 , 6 ,12 , 24  ��7��%-���0��,��
��.��	� 5,294.38  5,271.75   5,804.27   ,�$  5,521.35  0������	�  ��7������&�����&� �0�#H�
&������
��'!���#a�%-�.���%-��	0�������

)3����.�&����'�(! )*�7��  �'7������������3�%����������  
,0.%��($��
)��	����
�����3
�)������.�&������7��G  ��7�������#H�&������
��#a�%-�.����
����
�.�� 7��47�,�$�	�������)��.�&������7��G  ��7���
�����3
�)�3�����	��$%-���0��,��3��  &������
�
%-���0��,����������7�  &�������)'�(! )*  %-���0��,���_�
�)0.�#[�����������!�,��
"��#�$����	
� 4 #�$�L���.��	�  4,866.25   4,845.88   5,324.26   ,�$  5,070.33  0������	�  
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3��-�	�&�������)'�(! )*�	
�3����4����������3�%�����������������	0�������

)  ����
�	����,�$�.�� 7��47����&�����  ��7������&�������)'�(! )*���0	
����#H��������,�$�
 7���3
)�
����.��$3��������� 7��47�,�$�����	��%�%-��	����������   3.��&������
�%-���0��,���_�
�)0.�#[
�����������!�,��"��#�$����	
� 4 #�$�L����)�
�3/��7�  &�������/���)  %-���0��,���_�
�)
0.�#[��.��	�  3,258.23   3,682.69   4,143.33  ,�$  4,199.23  0������	�  &�������/���)�#H�
&������
��#H��	K�!3�-�!�  ����
�����3
�)����)��.�&�����'�(! )*�7��G,�$)	�����#�
)�%���7���
�����.�� 7��47�,�$�����	�������&�����  ���������%-�����3�%�4��,���.��$%-��	0�������

)0���
��.�&������7��  ��7���
�����3
�)�0������$�����0��,��0���(0�����
� 4.4) 
 
0�����
� 4.4 �#�
)���
)���0��,�������������!�#�$�L�#�$�	� 
�!0,�$��������!�

#�$�L�"��#�$����	�&�����'�(! )*�_�
�)��)#[ 
 

&�����
'�(! )* 

������#[�
�
���/� 

��������!�
���/� 

��������!�#�$�L�
#�$�	� 
�!0 

��������!�#�$�L�"��#�$��� 
3 ��7�� 6 ��7�� 12 ��7�� 24 ��7�� 

��/���) 10 160,800 5,120.00 3,258.23 3,682.69 4,143.33 4,199.23 
��)'�(! )* 14 174,000 3,571.43 4,866.25 4,845.88 5,324.26 5,070.33 
��/���' 15 175,000 3,833.33 4,393.54 4,573.25 5,164.71 5,235.87 

��/���
�)/&)� 10 182,000 400.00 4,076.52 4,058.58 4,184.13 4,411.68 
&� �0 16 213,600 4,462.50 5,294.38 5,271.75 5,804.27 5,521.35 

 
�
��� :  �����������( 
-��)�-0/ : 
��7�����3��-�	���0��,�������������!�#�$�L�#�$�	� 
�!0 
 -   ��0��,�����0�����
� 4.4 �#H���0��,���
�������#�$�	��
 
�!0�)�.���0����)/
���&���*�
�0�������	�0	
�,0.��!��,�� 
 -   ��������!����/�,�$������#[�
����/��#H����������,0.�$&����� 
��7�����3��-�	���0��,�������������!�#�$�L�"��#�$��� 
 -    ��0��,���
���������(�����������!�,�$������#[�
����/�0����������!�
#�$�L�#�$�	� 
�!0 
 -   ��0��,���
������(����	0�������

)�_�
�)���,0.�$&�����%�#[ 2550   
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 -   ��0��,�������������!�#�$�L�"��#�$���(0�����
� 4.4)  �#H���0��,��-�	�
-	�L��
 15%   
 ����#�
)���
)��$-�.����������!��	
� 2 #�$�L� '��.���������!�#�$�L�"��
#�$���3.��%-�.�$%-���0��,������	0�������

)�
������.���������!�#�$�L�#�$�	� 
�!0  
,0.��������!�#�$�L�#�$�	� 
�!0%-���0��,���7������-�7������0��,���
�����	�����	0��
�����

)  �7�  ��#�$2) �*�
��$����	���������-).��L��
��!��/���&����� `���%�#b��/�	��
3!�&!
����	������-).��L��
3��3/�4�� 100,000.- ���  ,�$)	�����	���!��������/������ 
�!0��7��������
�3
) 
�!0%��($�
����&���*�	
�)	���.���������#[0���
����0����	����(0�����
� 4.4) 
 ,0.�).������0������!����$-*����0���	
�����$��.������4����7������������%����
�.�)��!�#b��� �'��$,0.�$��!0L	(1*�����!�����$%-���!�#b���-�7���0��,��%�,0.�$�����
���.
0���	� �	��	
� �����������7���������.���!�%�,0.�$������'!���(��$���%-�������!����$-*
3����(*���)!����
�  

4.2.2 �#�
)���
)�����.�#b��/�	������!����/�,�$�	0����0��,�����2������������
�����!�#�$�L�#�$�	� 
�!0,�$��������!�#�$�L�"��#�$����	�&�����'�(! )* 
 ����!�	)��	
��

���-�����.�#b��/�	�3/�&! ( NPV) 2�)% ��	0���!����#H��	0�������

)0��
����0��� (�	0�������

)��!�"��#�$���&�����'�(! )*%��($�	
�)  2�)% �3�0�  �	��

 
                                                                         

 ����.�#b��/�	�3/�&! ( NPV)   =     t
tC /(1 + r)∑  

 
 
 2�)�
�  tC  �7� 0���/�-�7��.�% ��.�)%�#[�
� t 
  r     �7� �	0�������

) 
  t     �7� #[���2������ 
  n     �7� ������#[ 1, 2, 3,j.n 
������!����$-*�	��

 
 
 
 
 
 

n 

t  = 1 
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0�����
� 4.5 �#�
)���
)�����.�#b��/�	�3/�&! (NPV) �����������!�#�$�L�"��#�$���,�$
#�$�L�#�$�	� 
�!0 

  
&�����'�(! )* �.� NPV ���������

#�$�L�#�$�	� 
�!0 
�.� NPV ���������#�$�L�"��#�$��� 

3 ��7�� 6 ��7�� 12 ��7�� 24 ��7�� 
��/���) 11,217.43 2,894.16 2,193.35 3,379.43 3,822.52 

��)'�(! )* 8,18.01 4,801.18 4,590.79 5,374.53 5,524.93 
��/���' 13,155.51 4,933,97 4,015.47 6,115.42 6,871.16 

��/���
�)/&)� - 4,875.94 3,350.13 3,108.22 3,235.15 4,161.18 
&� �0 41,340.41 21,907.52 21,651.13 20,482.30 22.577.74 

 
�
��� : �����������( 
 
 �����������(����.�#b��/�	�3/�&!(NPV) �	�0�����
� 4.5  '��.� ��������!�#�$�L�
��!�"��#�$����	�&�����'�(! )*,�$��������!�#�$�L�#�$�	� 
�!00.���
�.�����.�#b��/�	�3/�&!
�#H����  ,3���.� �������	
�3��#�$�L��	
��-��$3��-�	��
��$�#H�0	���7��%���������!�%-��	�
#�$ � � 
 ,0.%��($��
)��	��$�-���.� ����.�#b��/�	�3/�&!���������#�$�L�#�$�	� 
�!0%�,0.
�$&�����3.������$�
�.������.��������.�#b��/�	�3/�&!���������#�$�L�"��#�$��� �	
�%�
&�����&� �0  &�������/���'  &�������/���)   &�������)'�(! )* ,�$&�������/���

�)/&)�   `����
����.�#b��/�	�3/�&! ��.��	� 41,340.41/13,155.51/11,217.43 / 8,18.01  ,�$ Z 4,875.94  
0������	�  ��7������&�������/���
�)/&)��
������#[�
�0��� ���$��

)#�$�	� 
�!0�����.�&�����
�7��G�7� 7 #[,0.��)/���&���*3	
� �7� 10 #[  ���%-�����.�#b��/�	�3/�&!�
�.��#H���3.������.�#b��/�	�
3/�&!���������#�$�L���!�"��#�$���&�����&� �0  &�������/���'  &�������)'�(! )*  
&�������/���
k ,�$&�������/���)  �
����.�#b��/�	�3/�&!2�)�_�
�)0������	�(0�����
� 4.5) 
 3��-�	��	0����0��,�����2������(IRR)  �7�  �	0����0��,���
����%-�����.�    
#b��/�	������!�3��	�3/�&!0�����)/2�������
�.���.��	���!�3��.�)3/�&!���/���!��,��  `����

-�	���(1*%����0	�3!�%�  �7�  �$0���	�2���������/�  4���	0����0��,�����2������ 
(IRR)  �
�.������.��	0����0��,���
�0������ (r)  �	���7�  0���	�2���������/���7��  IRR > r 
2�)�
3�����	��
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 0 1 2 3 nC = P + P + P +...+ P  

-�7�            -1 -2 -3 -n
0 1 2 3 nC = R (1 + IRR) + R (1 + IRR) + R (1 + IRR) + ... + R (1 + IRR)  

 
2�)���-��%-� 
 0C   �#H���!�3��.�)3/�&!  ����
� 0  -�7�  ��!�3��.�)3/�&!���/���!��,�� 
 1 2 3 nR , R , R , ... , R  �#H���!�3��	�3/�&!  %�����
�  1 ,2 ,3 ,j. , n  0������	� 
 1 2 3 nP , P , P , ... , P  �#H�����.�#b��/�	������!�3��	�3/�&!  1 2 3 nR , R , R , ... , R    
0������	� 
���������!����$-*�	��

 
 
0�����
� 4.6  �#�
)���
)�����.�#b��/�	�3/�&!(IRR) �����������!�#�$�L�"��#�$���,�$#�$�L�

#�$�	� 
�!0 
  

&�����'�(! )* 
������#�$�L�
#�$�	� 
�!0 

������#�$�L�"��#�$��� 
3 ��7�� 6 ��7�� 12 ��7�� 24 ��7�� 

r% IRR r% IRR r% IRR r% IRR r% IRR 
��/���) 3.20 4 3.13 3 3.25 4 3.63 4 3.63 4 

��)'�(! )* 2.05 3 3.38 4 3.38 4 3.69 4 3.50 4 
��/���' 2.20 3 3.13 3 3.25 4 3.63 4 3.63 4 

��/���
�)/&)� 1.00 0 3.38 4 3.38 4 3.50 4 3.63 4 
&� �0 2.10 4 3.38 5 3.38 5 3.69 5 3.50 5 

 
�
��� : �����������( 
 

 ���0�����
� 4.6  '��.�  �	0����0��,�����2������(IRR)3.��%-�.�
�.������.�
�	0����0��,���
�0������(r)  %�3.�����������#�$�L�#�$�	� 
�!0  �	0����0��,�����
2������(IRR),0�0.���	��	0����0��,���
�0������(r)  �����.�%��������������#�$�L�"��
#�$����
�  �	0����0��,�����2������(IRR),0�0.���	��	0����0��,���
�0������(r)  �'
)�
�������)  `���2�)���,�����������!��	
� 2 #�$�L�0.�����
�.� IRR > r  �	��	
����)���	�2������
���/��	
�  )�����&�������/���
�)/&)��
��
�.� IRR=0 `������)��.��	0�������

)�
�0������  �����.
�-��$�
��$���/�  0���-0/���
������.���#,�������0�� 
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4.3 	
�1(�C�
<&G�-	�F<,�<�H>(	�����)�������)(�,��4�<	-�$�1(>*+%I$�,��A?
��)*�A(> 
(Logit Model) 
 %�����������	
��

0������-�����3	�'	�&*���#b��	)0.��G 2�)#�$��(�.� 
3	�#�$3!�&!o���3����#b��	)���-����������!�,��#�$�	� 
�!0 2�)% � Binary Z choce model 
�	��#H���#,���������
�% ��!����$-*0	�,#�0���
��
�	��($�#H�������� !��/(L�' (Model of 
Qualitative Choice) ��7��0����� !��	����0	�3!�%���7��%������7�� 2 ���  �7�  ���0	�3!�%����
��!�-�7���.�����!�,��#�$�	� 
�!0  2�)3��0!%-������.��$�#H�������0	�3!�%����-�7���.
�����!�,��#$�	� 
�!0  �
��#,����.��	�����4
�3$3�������,��,��,��2��!30!�3*  `����#H� 
Specified  Model  ��� Binary Z choce model  `�����
)��.�,��������2��!0 (Logit Model)  �	��

 
 
 i iLog(P /1-P )  = 0 1 2 3B + B STATUS + B INCOME + B EDU  
       
 ��7�� iP  = 1 ��7����/.�0	��).����7���
��$�����!�,��#�$�	� 
�!0 
   = 0 ��7����/.�0	��).����7���
��$��.�����!�,��#�$�	� 
�!0 
  STATUS = 34��L�' 
  INCOME = ��)��� 
  EDU = �$�	��������� 
 
2�)�
3��0!K���	��

 
 1.  ��/.�0	��).���$��7�����-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	���)��������/.�
0	��).��  �7�  ��)����
�!�����#H�����	������7�������!�,��#�$�	� 
�!0  2�)��/.�0	��).���
��

��)���3���$��7�������!�,��#�$�	� 
�!0�����.���/.�0	��).���
��
��)���0��� 
 2.  ��/.�0	��).���$��7�����-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	��$�	���������
�����/.�0	��).��  �7�  �$�	����������
�!�����#H�����	������7�������!�,��#�$�	� 
�!0  2�)
��/.�0	��).���
��
�$�	���������3���$��7�������!�,��#�$�	� 
�!0�����.���/.�0	��).���
��
�$�	�
��������0��� 
 3.  ��/.�0	��).���$��7�����-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	�34��L�'���
��/.�0	��).��  �7�  34��L�'�
�!�����#H�����	������7�������!�,��#�$�	� 
�!0  2�)��/.�
0	��).���
��
34��L�'3��3�$��7�������!�,��#�$�	� 
�!0�����.���/.�0	��).���
��
34��L�'
23�  ��7�����������	��!� ��,�$'	�&$���'	��	���%�������	� 
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0�����
� 4.7  ������!����$-*������2�)% � Binary Logistic 
 
Variable B S.E. Wald Df Sig. Exp(B) 
Constant - 2.973 .735 16.377 1 .000 .051 
Status .134 .063 4.576 1 .032 1.144 
Income .536 .119 20.289 1 .000 1.710 
Edu .376 .166 5.164 1 .023 1.457 
  
 

Classification Table 
 

Observed 
Predicted 

��.��� ��� 
Percentage 
Correct 

Step 1  ��.��� 92 84 52.3 
    ��� 62 162 72.3 
  Overall Percentage     63.5 
 
�
��� : �����������( 
 
 �������������'��.� �.� Significant ���)��.� 0.05 0�����
� 4.7  ,3���.�0	�,#��!3�$
�
����3	�'	�&*,���
�	)3���	�0.�0	�,#�0�� ,�$�.�3	�#�$3!�&!o���0	�,#��!3�$ (B) 3����4
����#% �%�3�������  2�)3����4,���.�%�3��������	��

 
 i iLog(P /1-P )  =  -2.937 + 0.134 STATUS  + 0.536 INCOME + 0.376 EDU 
 `�������� 7��47����������')���(*4��0��� ��.��	� 63.5% 
 ��)��� (INCOME)  �����/.�0	��).���
�!�&!'�0.����0	�3!�%������!�,��#�$�	�
 
�!0%��!������
)��	� ��7���������7���-��)-���3	�#�$3!�&!o�#H���� ,3���.���7����)����'!����
� 
���$0	�3!�%������!�,��#�$�	� 
�!0�'!����
� 53.6% �	
��

����$��7�������
��)������'��
��$
�.�)�.���

)#�$�	� 
�!0��)#[���  -�7���7���
��)����'!�������
���0����3
)L��
��!�����/���&��������
��
� ���0	�3!�%���7���
��$�����!�,��#�$�	� 
�!0�'7��% �3��-�	���-).��L��
��� -�7����0������
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��0��,�����������/� � .� �����

) ��0��,���
�������/��7��G��.3����4%-����  � .� ���
�/������ 
�!0 
 �$�	��������� (EDU)  �����/.�0	��).���
�!�&!'�0.����0	�3!�%������!�,��
#�$�	� 
�!0%��!������
)��	� ��7���������7���-��)-���3	�#�$3!�&!o�#H���� ,3���.���7���$�	�
��������3����
����$0	�3!�%������!�,��#�$�	� 
�!0�'!����
� 37.6% �	
��

����$��7����������%�
4����#,����������!�,��#�$�	� 
�!0 ���4����#�$2) �*�
��$����	������������!�,��
#�$�	� 
�!0�����
� 
 34��L�' (STATUS)  �����/.�0	��).���
�!�&!'�0.����0	�3!�%������!�,��#�$�	�
 
�!0%��!������
)��	� ��7���������7���-��)-���3	�#�$3!�&!o�#H���� ,3���.����
�3��3,����

2���3�
��$0	�3!�%������!�,��#�$�	� 
�!0�����
�13.4% ��7���
�����	��!� ��%�������	�
�����
�  2�)34��L�'3��3�
�����	��!� ��0.�������	�����
�3/�  �'��$��7���
���3��3��0���
�)�.�#H�������	�,�$����$�
�/0����%-�0������4������0����/0�  ��7��������.�����.�%�����0
����-����$��!��$����
� ������%-���/.�0	��).���
��
34��L�'3��3�$��7�������!�,��#�$�	� 
�!0
����
�3/� 
  
4.4 �+���C1
��-��-�=G�<&1.
)>-1,4�  
 ��3������3	�'	�&*�$-�.��'O0!����������,��#�$�	� 
�!0�	��	��($'7
�K��
�����/.�0	��).�� ���,�. �'�  ��)/  ��)��� 34��L�' �� 
' ,�$�$�	��������� ���)�!&
��3��
��3,���* ,�$�	��$�	�����3	�'	�&*���)�.�3	�#�$3!�&!o����� ( �$�	��	)3���	� 0.05 2�)���
��3��3��0!K�����)�!&
��3����3,���*�
3��0!K���	��

 
 0H  : ��������!�,��#�$�	� 
�!0,�$�	��($'7
�K�������/.�0	��).�� (�'�  ��)/  
��)��� 34��L�' �� 
' ,�$�$�	���������) �#H��!3�$-�7���.�
����3	�'	�&*�	� 

1H  : ��������!�,��#�$�	� 
�!0,�$�	��($'7
�K�������/.�0	��).�� (�'�  ��)/     
��)��� 34��L�' �� 
' ,�$�$�	���������) ��.�#H��!3�$-�7��
����3	�'	�&*�	� 
 2�)     :   �$)���	� H0 ��7���.� Pearson  chi Z quare  �
�.� Asymp.Sig. (2- sided) -�7�                                
�.� P(�����.��$�#H�) �����.� �$�	��	)3���	� 0.05 
 ,�$    :   �$)���	� H1 ��7���.� Pearson  chi Z quare  �
�.� Asymp.Sig. (2- sided) -�7� 
�.� P(�����.��$�#H�) ���)��.� �$�	��	)3���	� 0.05 
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4.4.1 �'��	��	��($��������!� 
 
0�����
� 4.8   ,3���.����)�$,�$�.���3,���*�������3	�'	�&*�$-�.���	��($��������!�,��
#�$�	� 
�!0�	��'�  
 

�'� 
�	��($��������!� 

Total 
Pearson     

chi Z quare        
P = 0.160 

�����!�,��#�$�	� 
�!0 ��.�����!�,��#�$�	� 
�!0 
 �) 
-�!� 

100 (52.4%) 
124 (59.3%) 

91 (47.6%) 
85 (40.7%) 

191 (100%) 
209 (100%) 

Total 224 (56.0%) 176 (44.0%) 400 (100%) 

 
�
��� : �����������( 
 ���0�����
� 4.8   '��.� �	��($��������!�,��#�$�	� 
�!0��.�
����3	�'	�&*�	��'� 
�7� �����7�������!�-�7���.�����!�,��#�$�	� 
�!0��.��
��)�.�	��'�     
 ��/.�0	��).���	
��'� �) ,�$ �'�-�!�  3.��%-�.��7���
��$�����!�,��#�$�	� 
�!0  
2�)�'� �) �!��#H����)�$ 52.4 ,�$�'�-�!� �!��#H����)�$ 59.3 
 ��.�.��'� �)-�7��'�-�!�0.�����
������,����������!��
�,0�0.���	��#,���,0.
�	04/#�$3��*���,0.�$��   2�)��/.��
���7����������!�,��#�$�	� 
�!0����$�#H��'��$
��#�$2) �*�����������!�#�$�L��

0���	�����0��������������� 
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4.4.2 ��)/�	��	��($��������!�  
 

0�����
� 4.9  ,3���.����)�$,�$�.���3,���*�������3	�'	�&*�$-�.���	��($��������!�,��
#�$�	� 
�!0�	���)/ 

 

��)/ 
�	��($��������!� 

Total 

Pearson 
chi Z quare 
P = 0.01* 

�����!�,��#�$�	� 
�!0 ��.�����!�,��#�$�	� 
�!0 
���)��.� 26 #[ 
26 Z 35 #[ 
36 Z 45 #[ 
46 Z 55 #[ 
56 Z 65 #[ 
�����.� 65 #[ 

29 (39.2%) 
66 (50.4%) 
56 (61.5%) 
49 (68.1%) 
23 (76.7%) 
1 (50.0%) 

45 (60.8%) 
65 (49.6%) 
35 (38.5%) 
23 (31.9%) 
7 (23.3%) 
1 (50.0%) 

74 (100.0%) 
131 (100.0%) 
91 (100.0%) 
72 (100.0%) 
30 (100.0%) 
2 (100.0%) 

Total 224 (56.0%) 176 (44.0%) 400 (100.0%) 

 
�
��� : �����������( 
 
 ���0�����
� 4.9  '��.� �	��($��������!�,��#�$�	� 
�!0�
����3	�'	�&*�	���)/  
�7����0	�3!�%���7�������!�-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	���)/ 2�) 0	�3!�%��
��$
��7�������!�,��#�$�	� 
�!0����
�3/�  �
��)/�$-�.�� 56 Z 65 #[ �!��#H����)�$ 76.7  ,�$
0	�3!�%��
��$��.�����!�,��#�$�	� 
�!0����
�3/� �
��)/���)��.� 26 #[ �!��#H����)�$ 60.8 
 ,0.�$ .����)/���
�	04/#�$3��*%��������
�,0�0.���	�����#   .���
���)/)	����)��
����$��.�-����������#H��
��$0��������!�#�$�L�#�$�	� 
�!0 �'��$)	��
��)������)��.3����4�
�
�$�����!�#�$�L��

���  #�$����	���7����)������)������$)	���.0����3
)L��
��!�����/���
&�����  -�7��
L��$�
��$0�����,���.��	����
��
��)/�����.�  �'��$��7���
��)/�����
����$0���
������4����������!��'7��% ��.�)%�)�����
)(��)/-�7�%�)���
���.3����4-���)��������.��	��/�
�	��

  -�7��'7��0������-�	�#�$�	����%-��	��/����	��#H��
��	� 
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4.4.3 ��)����	��	��($��������!�  
 

0�����
� 4.10  ,3���.����)�$,�$�.���3,���*�������3	�'	�&*�$-�.���	��($��������!�,��
#�$�	� 
�!0�	���)��� 

 

��)��� 
�	��($��������!� 

Total 

Pearson 
chi Z quare 
P = 0.00* 

�����!�,��#�$�	� 
�!0 ��.�����!�,��#�$�	� 
�!0 
���)��.� 10,000.- ��� 
10,001 Z 25,000.- ��� 
25,001 Z 50,000.- ��� 
50,001 Z 75,000.- ��� 
�����.� 75,000.- ��� 

21 (37.5%) 
57 (44.2%) 
96 (61.5%) 
27 (84.4%) 
23 (85.2%) 

35 (62.5%) 
72 (55.8%) 
60 (38.5%) 
5 (15.6%) 
4 (14.8%) 

56 (100.0%) 
129 (100.0%) 
156 (100.0%) 
32 (100.0%) 
27 (100.0%) 

Total 224 (56.0%) 176 (44.0%) 400 (100.0%) 

 
�
��� : �����������( 
 
 ���0�����
� 4.10 '��.� �	��($��������!�,��#�$�	� 
�!0�
����3	�'	�&*�	���)���  
�7����0	�3!�%���7�������!�-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	���)��� 2�) 0	�3!�%��
��$
�����!�,��#�$�	� 
�!03.��%-�.�
��)���0	
�,0. 50,000.- �����
��# `���,�.���)����#H� 2  .�� �7� 
50,001 Z 75,000.- ��� ,�$ �����.� 75,000.- ��� �!��#H����)�$ 84.4 ,�$ 85.2 0������	�  3.��
���0	�3!�%��
��$��.�����!�,��#�$�	� 
�!0����
�3/� �
��)������)��.� 10,000.- ��� �!��#H�   
���)�$  62.5 
 ��)����#H�#b��	)3���	�%������7��,����������!�,��0.��    ��������!�%�,0.�$
#�$�L���0���% ���!����������  ���),0�0.���	�  ����
��
��)������)���$�
�������	�%�������
�����.�����
��
��)�������
�3����4��7�����������-���-��)��#,��  
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4.4.4 34��L�'�	��	��($��������!� 
 

0�����
� 4.11  ,3���.����)�$,�$�.���3,���*�������3	�'	�&*�$-�.���	��($��������!�,��
#�$�	� 
�!0�	�34��L�' 

 

34��L�' 
�	��($��������!� 

Total 

Pearson 
chi Z quare 
P = 0.01* 

�����!�,��#�$�	� 
�!0 ��.�����!�,��#�$�	� 
�!0 
23� 
3��3 
,)��	��)�. 
-).����� 
-���) 

99 (47.1%) 
96 (64.0%) 
7 (63.6%) 
6 (54.5%) 
16 (88.9%) 

111 (52.9%) 
54 (36.0%) 
4 (36.4%) 
5 (45.5%) 
2 (11.1%) 

210 (100.0%) 
150 (100.0%) 
11 (100.0%) 
11 (100.0%) 
18 (100.0%) 

Total 224 (56.0%) 176 (44.0%) 400 (100.0%) 

 
�
��� : �����������( 
 
 ���0�����
� 4.11 '��.� �	��($��������!�,��#�$�	� 
�!0�
����3	�'	�&*�	�
34��L�'  �7����0	�3!�%���7�������!�-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	�34��L�'���
3��3 2�)��/.�0	��).���
���7�������!�,��#�$�	� 
�!0�
34��L�'-���)����
�3/� �!��#H����)�$ 
88.9  3.����/.�0	��).���
���.��7�������!�,��#�$�	� 
�!0����
�3/� �7� 34��L�'23� �!��#H�  
���)�$ 52.9 
 34��L�'�
3.��3���	��
� .�)%������7��#�$�L���������!�  ��7������34��L�'�$
�#H�0	����-���	04/#�$3��*�����������!�%-� 	������������
�  � .�  ���
�������	�������$
��7����������!��
�%-���#�$2) �*0��,���
�#�$2) �*�	�������	�   -�7��/����
��
��
34��L�'
�
��#H�-���)������$��7����������!�#�$�L��
�%-���0��,��3��-�	����% �%�����0��7��)��,�.
��.� 
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4.4.5 �� 
'�	��	��($��������!� 
 

0�����
�  4.12  ,3���.����)�$,�$�.���3,���*�������3	�'	�&*�$-�.���	��($��������!�,��
#�$�	� 
�!0�	��� 
' 

 

�� 
' 
�	��($��������!� 

Total 

Pearson 
chi Z quare 
P = 0.01* 

�����!�,��#�$�	� 
�!0 ��.�����!�,��#�$�	� 
�!0 
�	���
)�/�	������ 
����� ���/�	K�!3�-�!� 
'�	������!�	�/������� 
&/��!�3.��0	� 
,�.����/'.����� 
�7��G 

6 (35.3%) 
77 (58.3%) 
81 (47.6%) 
43 (81.1%) 
11 (61.1%) 
6 (60.0%) 

11 (64.7%) 
55 (41.7%) 
89 (53.4%) 
10 (18.9%) 
7 (38.9%) 
4 (40.0%) 

17 (100.0%) 
132 (100.0%) 
170 (100.0%) 
53 (100.0%) 
18 (100.0%) 
10 (100.0%) 

Total 224 (56.0%) 176 (44.0%) 400 (100.0%) 

 
�
��� : �����������( 
 
 ���0�����
� 4.12  '��.� �	��($��������!�,��#�$�	� 
�!0�
����3	�'	�&*�	��� 
' 
�7����0	�3!�%���7�������!�-�7���.�����!�,��#�$�	� 
�!0��
��)�.�	��� 
' 2�) ��/.�0	��).���
�
��7�������!�,��#�$�	� 
�!0�
�� 
'&/��!�3.��0	�����
�3/� �!��#H����)�$ 81.1 3.����/.�0	��).��
�
���.��7�������!�,��#�$�	� 
�!0����
�3/� �7� �	���
)�/�	������ �!��#H����)�$ 64.7 
 �/����
�#�$����� 
'�/��� 
'0.����-������	����,�$#���L	)%-��	�0	����   �� 
'
�
���.�
3�	3�!���  -�7��
�����3
�)�%����#�$����� 
'������$��7�������!�,��#�$�	� 
�!0�'7��
�����	����,�$�#H�-�	�#�$�	����%-��	�0	����,�$�/����	��#H��
��	� 
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4.4.6  �$�	����������	��	��($��������!� 
 
0�����
� 4.13  ,3���.����)�$,�$�.���3,���*�������3	�'	�&*�$-�.���	��($��������!�,��

#�$�	� 
�!0�	��$�	��������� 
 
�$�	��������� �	��($��������!� 

Total 

Pearson 
chi Z quare 
P = 0.073 

�����!�,��#�$�	� 
�!0 ��.�����!�,��#�$�	� 
�!0 
#�$4������ 
�	&)������ 
�� 
������ 
#�!���0�
 
3����.�#�!���0�
 

 
13 (56.5%) 
13 (41.9%) 
158 (54.9%) 
40 (70.2%) 

1 (100.0%) 
10 (43.5%) 
18 (58.1%) 
130 (45.1%) 
17 (29.8%) 

1 (100.0%) 
23 (100.0%) 
31 (100.0%) 
288 (100.0%) 
57 (100.0%) 

Total 224 (56.0%) 176 (44.0%) 400 (100.0%) 

 
�
��� : �����������( 
 
 ���0�����
� 4.13  '��.� �	��($��������!�,��#�$�	� 
�!0��.�
����3	�'	�&*�	�
�$�	��������� �7� �����7�������!�-�7���.�����!�,��#�$�	� 
�!0��.��
��)�.�	��$�	���������  
`�������#H��'��$�.� ����
�%-�����3���	��	�������2�)3.�����,�����.�.��$�
�$�	���������%���
�$���%-������!�%���#,��0.��G%-�3��������	��	04/#�$3��*���������0���� 
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4.5 	
�1-+�<+-�C1
��-��-�=G�-�4�<�(�=(R 
 
0�����
�  4.14  ,3���$�	�����3	�'	�&*�$-�.���	��($��������!�,��#�$�	� 
�!0�	��	��($

'7
�K�������/.�0	��).���
��
����3	�'	�&*�	� (��)/  ��)���  34��L�' ,�$�� 
') 
 
 Value Approx. Sig. 
Nominal by Nominal Contingency Coefficient 
                                                                  ��)/ 

0.222 0.001 

Nominal by Nominal Contingency Coefficient 
                                                                 ��)��� 

0.290 0.000 

Nominal by Nominal Contingency Coefficient 
                                                          34��L�' 

0.212 0.001 

Nominal by Nominal Contingency Coefficient 
                                                                 �� 
' 

0.228 0.001 

*�
�	)3���	����34!0!�
��$�	� 0.05 
 
�
��� : �����������( 
 
 �������	��$�	�����3	�'	�&*  �$�-������.� 0	�,#��
��
����3	�'	�&*�	������7�����
��!�-�7���.�����!�,��#�$�	� 
�!0����
�3/��7� ��)��� ������� �7� �� 
' ��)/ ,�$34��L�'  
0������	�  �	
��

��7��������������!�,��#�$�	� 
�!0�$�#H��������$)$)��  ����4.4���.��
���-���������$��.�
��0��,��,���   ����$����/����)����!�0��  �������

,���  ������
#�$�L��

�#H��������$)$)�����%-��������
L��$%��������$)$)��,�$��!�������-�����$0���
4��,�.�3.�������)���#�$����'7��������  ����
��
��)����.���������
�,�$%��$�	��
����'� ��.��	
�
�
��$���3��3��)%�%�������#�$�L��
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4.6 �������H>(	���	
�����)(�,��4�<	-�$�1(> /+�,	. �&>0���������)(�,��4�<	-�$�1(>  ,�<
/�.����)(�,��4�<	-�$�1(> 
 ����!����$-*�������$�!����$-*%�L�'�����
�)��	��-0/���
���7�������!�,��#$�	�
 
�!0 ,�$�-0/���
���.��7�������!�,��#�$�	� 
�!0 2�)% ���(1*%�����!����$-*  ,�$,#���
�������	��

 
 �$,���_�
�)   4.50 Z 5.00   ���-��%-��)�.%���(1*    �$�	������!��-������
�3/� 
 �$,���_�
�)   3.50 Z 4.49   ���-��%-��)�.%���(1*    �$�	������!��-����� 
 �$,���_�
�)   2.50 Z 3.49   ���-��%-��)�.%���(1*    �$�	������!��-��#������ 
 �$,���_�
�)   1.50 Z 2.49   ���-��%-��)�.%���(1*    �$�	������!��-�����) 
 �$,���_�
�)   1.00 Z 1.49   ���-��%-��)�.%���(1*    �$�	������!��-�����)�
�3/� 
 

4.6.1 #b��	)�
��
��0.������7�������!�,��#�$�	� 
�!0 
 
0�����
� 4.15  �.����)�$ �.��_�
�) ,�$3.����
�)������0�K������$�	������!��-����
�)��	�#b��	)

�
��
��0.�������%-���7�������!�,��#�$�	� 
�!0 
 

#b��	)�
��
��0.������7�������!�,��#�$�	� 
�!0 
�.����)�$ 

Mean S.D. 
����
�3/� ��� #������ ���) ���)�
�3/� 

1. �	0�������

) 36.2 33.5 25.4 4.0 0.9 4.0 0.9 
2. �����-).��L��
 54.0 28.1 15.6 2.2  4.3 0.8 
3. ��.0����3
)L��
�����#�$2) �*�
�����	� 44.6 32.6 19.6 1.8 1.3 4.2 0.9 
4. ��#�$2) �*�������/������ 
�!0 59.4 28.4 8.9 1.8 1.3 4.4 0.8 
5. 3L�'��.��%�����0������% ���!� 11.6 30.8 49.6 12.1 4.9 3.3 1.0 
6. ��������!��
�% �%�������,0.�$��	
� 14.3 38.4 39.7 5.4 2.2 3.6 0.9 
7. �$)$����%������� 16.1 35.3 42.4 5.8 0.4 3.6 0.8 
8. �����3
�)������������!� 17.9 1.7 36.6 8.5 5.4 3.5 1.1 
9. �������	������,����%�%3.�����!�	�#�$�	� 17.0 32.6 34.4 11.2 4.9 3.5 1.1 
10. �����.�� 7��47� ,�$�����	���������!�	�
#�$�	� 

33.9 41.5 20.5 3.1 0.9 4.0 0.9 

11.  7�������!�	�#�$�	�����)�	� 7��&����� 19.2 29.0 31.3 13.4 7.1 3.4 1.2 

 
�
��� : �����������( 
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 �����������'��.�  �$�	������!��-����
�)��	�#b��	)�
��
��0.�������%-���7�������!�
,��#�$�	� 
�!0  3.��%-�.�)�.%��$�	���� `����
�.��_�
�)�$-�.�� 4.4 - 3.3 2�)#b��	)�
��
��0.����
��7�������!�,��#�$�	� 
�!0����
�3/� �7� ��#�$2) �*�������/������ 
�!0 �.��_�
�)��.��	� 4.4 
,�$�.���
�)������0�K����.��	�  0.8  `�����/.�0	��).��3.��%-�.,3���$�	������!��-������
�3/�
4�����)�$ 59.4    #b��	)��������
��
��0.������7�������!�,��#�$�	� 
�!0 �7� �����-).��L��
 
�
�.��_�
�)��.��	� 4.3 ,�$�.���
�)������0�K����.��	�  0.8  2�)��/.�0	��).��3.��%-�.,3���$�	�
�����!��-������
�3/�    �!��#H����)�$ 54.0  #b��	)0.����
��
��0.������7�������!�,��#�$�	�
 
�!0 �7���.0����3
)L��
�����#�$2) �*�
�����	� �
�.��_�
�)��.��	� 4.2 ,�$�.���
�)������0�K��
��.��	� 0.9 2�)��/.�0	��).��3.��%-�.,3���$�	������!��-������
�3/� �!��#H����)�$ 44.6(0����
�
� 4.15)   
 3��-�	�#b��	)�
��
��0.������7�������!�,��#�$�	� 
�!0���)�
�3/� �7� 3L�'��.��%�
����0������% ���!�  �.��_�
�)��.��	� 3.3  ,�$�.���
�)������0�K����.��	� 1.0  `�����/.�0	��).��3.��
%-�.,3���$�	������!��-��#���������)�$ 49.6 #b��	)�
��
��0.������7�������!�,��#�$�	�
 
�!0���)�
�3/���������7�  7�������!�	�#�$�	�����)�	� 7��&����� �.��_�
�)��.��	� 3.4 ,�$�.�
��
�)������0�K����.��	� 1.2 `�����/.�0	��).��3.��%-�.,3���$�	������!��-��#���������)�$ 
31.3 
 

4.6.2 #b��	)�
��
��0.������7����.�����!�,��#�$�	� 
�!0 
 
0�����
� 4.16  �.����)�$ �.��_�
�) ,�$3.����
�)������0�K������$�	������!��-����
�)��	�#b��	)

�
��
��0.�������%-���7����.�����!�,��#�$�	� 
�!0 
 
#b��	)�
��
��0.������7�������!�,��#�$�	�

 
�!0 
�.����)�$ 

Mean S.D. 
����
�3/� ��� #������ ���) ���)�
�3/� 

1.�	0�������

)0�����.�������,���7��G 10.8 30.7 50.6 6.3 1.7 3.4 0.8 
2. ��)�����.�'
)�'��
��.�)��

)#�$�	� 
�!0%�,0.
�$#[ 

20.5 25.6 42.0 7.4 4.5 3.5 1.0 

3. 3L�'��.��%�����0������% ���!��
���) 18.2 36.9 39.8 2.3 2.8 3.7 0.9 
4. �$)$����%���������!������.��$����7� 30.1 43.2 23.3 3.4  4.0 0.8 
5. �����3
�)������������!�3����.����"����!�
�	�&����� 

16.5 34.1 40.9 6.8 1.7 3.6 0.9 
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0�����
� 4.16 (0.�) 
 
#b��	)�
��
��0.������7�������!�,��#�$�	�

 
�!0 
�.����)�$ 

Mean S.D. 
����
�3/� ��� #������ ���) ���)�
�3/� 

6. ��7�����%���������!�,��#�$�	� 
�!0�

���  	̀� �̀�� ��.�.�)����%� 

22.2 42.0 29.0 4.5 2.3 3.8 0.9 

7. ������.�.�� 7��47� ,�$������.�	�������
��!�	�#�$�	� 

17.6 33.0 36.4 11.4 1.7 3.5 1.0 

8. ��.�-����������#H��'��$�
���&���*#�$�	�
 
�!0,���7���)�.,��� � .� 3���� ��/.� k�k 

21.6 29.0 34.1 10.8 4.5 3.5 1.1 

 
�
��� : �����������( 
 
 �����������'��.�  �$�	������!��-����
�)��	�#b��	)�
��
��0.�������%-���7����.���
��!�,��#�$�	� 
�!0 3.��%-�.�)�.%��$�	���� `����
�.��_�
�)�$-�.�� 4.0 - 3.4  2�)#b��	)�
��
��0.�
�����7����.�����!�,��#�$�	� 
�!0����
�3/� �7� �$)$����%���������!������.��$����7�
�.��_�
�)��.��	� 4.0  ,�$�.���
�)������0�K����.��	�  0.8 `�����/.�0	��).��3.��%-�.,3���$�	�
�����!��-�����4�����)�$ 43.2  #b��	)��������
��
��0.������7����.�����!�,��#�$�	� 
�!0 �7� 
��7�����%���������!�,��#�$�	� 
�!0�
���  `	�`��� ��.�.�)����%�  �
�.��_�
�)��.��	� 3.8 ,�$�.�
��
�)������0�K����.��	� 0.9 2�)��/.�0	��).��3.��%-�.,3���$�	������!��-�����  �!��#H����)
�$ 42.0 #b��	)0.����
��
��0.������7����.�����!�,��#�$�	� 
�!0 �7�3L�'��.��%�����0������
% ���!��
���)   �
�.��_�
�)��.��	� 3.7 ,�$�.���
�)������0�K����.��	�  0.9 2�)��/.�0	��).��3.��%-�.
,3���$�	������!��-��#������ �!��#H����)�$ 39.8 (0�����
� 4.16) 
 3��-�	�#b��	)�
��
��0.������7����.�����!�,��#�$�	� 
�!0���)�
�3/� �7��	0�������

)
0�����.�������,���7��G �.��_�
�)��.��	� 3.4  ,�$�.���
�)������0�K����.��	�  0.8  `�����/.�0	��).��
3.��%-�.,3���$�	������!��-��#���������)�$ 50.6 
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��	
��
����
�� 
 
5.1 ��	
��
����
�� 
 ����������	
��  
������������������
��������������� !������� �""�������� 
#�$���""�������
�%&�����#�# ! �&���'���
�(� )�  ��$��*'�����)%�
	
������
�������
�����������
��������������� !������� &�����#�# �&���'���
   ! ��������� �""����� 
#�$��  ��������+)����,������"�� ������! �-��""�������� #�$���""�������
�%   ��	
�
�����"����"��"����"�� �"".������/�! 0 �)��
�1�#�%  �$�*���� �� $���! ������
��� !(,������#�# ! �&���'���
�(� )�  +��!#,�""��"*����2 �)�	
���	�! �����3"�$"�$�
&,��-��/� $   400  )   ��� /�&,��-���$��)���(%����*���  �����*��'��������������
$��*'�����)%��������6� ��
��7�8$,��� �7 
 ���������/��$����'����$�������
��"�9#���� .������/�! 0 �)��
�1�#�%��7� 5 �(�� 
8�,��� 0 �)����'�8�� 0 �)��8��
�1�#�% 0 �)����'������'0�� 0 �)����'���
 0 �)��       
0 #�� 
"$��  ��$ !(9���2 �
�(9��  ���'��($���  26 = 35 �? �����$ !(9���2 +�� ����������
����"���99����  ����#�

 ���� "�����/�-��,��  �����8�,�����	� �����1  25,001 = 50,000.-  
"�� 
 �/�(��"��������"����"����"�� ��������� �"".������/�! 0 �)��
�1�#�%��"
��������� �""����� #�$�� �7  +�������"����" 5 0 �)��  E�
�0 �)����7� 5 �(�� ��"���������� 
! �)�	���
!#,#	
�"�����)�,����"#	
�0 �)�� ! ��������"����" �/� $ �?����/� $ ��� ��
!#,! ���
������ ��7� 2 ����F� �7 ������  
"$�� ! ��������� ����F������ #�$������"�� �G��
�����? 
0 �)����'�8��!(,����"�� �����
�'� )	� 5,120.-"��  �������)	� 0 �)��0 #�� 4,462.50  
"��  ��$ ��������� ����F���� .������/� ����"�� ��
8�,��")	�(������(��F�������"�7���

8�,��" 15% �G��
�����? .������/� 3 ��	� 0 �)��0 #��!(,����"�� �����
�'� )����2 ���  
5,294.38  "�� �������)	� 0 �)��8��
�1�#�%  )����2 ���  4,866.25  "��  .������/� 6 ��	�  
0 �)��0 #��!(,����"�� �����
�'�  ��2 ���   5,271.75 "��  �������)	�0 �)��8��
�1�#�%
��2 ���  4,945.88 "�� .������/� 12 ��	�  0 �)��0 #��!(,����"�� �����
�'� )����2 ��� 
5,804.27�������)	� 0 �)��8��
�1�#�%  )����2 ���  5,324.26 "�� �/�(��" .������/� 
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24  ��	�  0 �)��0 #��!(,����"�� �����
�'�  )����2 ���  5,521.35 "��  �������)	�0 �)��
��'���
)����2 ���  5,235.87  "�� 
 ���)/� $1�-�)������'"� �'�0� (NPV) 
"$�� ��������� ����F���� .������/���"
0 �)��
�1�#�%������������ ����F������ #�$��������)���-�)������'"� �'�0���2 "$� ����$�� 
��������7��������F� �7 �(����/�(��"��
����2 ��$��	��! ��������� !(,��"���#�#  ���
�����8��3��� �����������)��7� �7
"$������"�� ����������""����� #�$����!(,
����"�� ��
)����2 ��$��� �-��$������������F���� .�� ��������� �, �/� $ ����$��   
 ����������"�����6� �
	
��������������
�������
��������������� !������� 
(�	�8�������� �""����� #�$�� +��!#,�""�/����+���� 
"$��  �*� F�
  ���8�,  �������"
����������������������� !���
����	�������� (�	�8�������� �""����� #�$��   
 ��	
�����")$�����
� 0%��($�����$��� +��!#, Crosstabulation  ���  Chi = Square  

"$��  ��'����$�������$ �����
��	�������� �""����� #�$�� ��2 �
�(9��  �����'��($���  56 = 65 
�?  �*� F�
��2 (�,��  �"������������"�-��$�����99����  �����"��#�
0'������$ ��$ ��
���8�,�����	� ����$�� 75,000.-  "��  ��$ ��'����$�������
8����	�������� �""����� #�$�� ��$ 
!(9���2 �
�#��  �����' ,���$��  26  �?  �*� F�
+��  �"������������"���*������ ����#�

��2  ������   �������  �����8�,�����	�  ,���$�� 10,000.-  "�� �����	
�$������")$�����
� 0%&��
��$���  +�����$������")$�����
� 0%���������0�`��  
"$�� ��$�����
��)$�����
� 0%��"�����	��
������ (�	�8�������� �""����� #�$�������
�'�)	� ���8�, ������� )	� ��#�
 ���' ���
�*� F�
  ����/���" 
 ���
����1���������
��������������� !������� (�	�8�������� �""����� #�$��  �,$�
)���G��
������$ �"�
���" ����6�   
"$��  ��������
�����������/�!(,��	�������� �""����� 
#�$�������
�'� )	� �����+�# %������)',�)���#�$��   ���������������
������������	�������� 
�""����� #�$�� )	� �����(��� F���   �������������
������������	�������� �""����� #�$�� 
)	�8���,������F�����������+�# %��
8�,��"   �/�(��"��������
������������	�������� �""����� 
#�$�� ,����
�'� )	� �F�
)����! )$���,�����!#,���    
 ��$ ��������
�����������/�!(,��	��8�������� �""����� #�$�������
�'� )	� �����$��
! ���������  � �$����8�,)	      ���������������
������������	��8�������� �""����� #�$�� 
)	� ��	
� 8&! ��������� �""����� #�$�������  E�"E,�  8��)����&,�!�  �������������
����������
��	��8�������� �""����� #�$�� )	��F�
)����! )$���,�����!#,��� �� ,��  �/�(��"��������
����
��������	��8�������� �""����� #�$�� ,����
�'� )	����������"�7��
/��$���������""�	
 a   
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5.2 ���
����� 

 �������������  �����* /������F�����8�,  ��� �7 
5.2.1 
�������������+����
$8�  �-,�����$ !(9�  ��������� ��2 ��� .������/����

��
�'� ��,��������"�� �
/�    �
����-,�����)$���#	
���
 ! �*�"� ������   �����"��"���
)/� ��*��)$������F�����)$�����
����
�������&�7   ����-,�����$��*'�����)%�
	
�  8$,!#,����! ���
G'��G�  )	���������� �"".������/�! 0 �)��
�1�#�% �7   �-,��������*!#,��� ! ���G'��G� 
8�,�� ��  �
���0 �)������&�8$,"�������2 �/� $ �������/� $�)$�����$�!(,��"�-,������ 
����F� �78�,��	
�*��)��$�/���2 �,��!#,��� �""������$   ������b�)$��
��
�!�! �F�
)����
(Liquidity = Preference Theory of Interest)  )	�  )$���,�����! ���*	����  �7 ���'��'��(���
������8� �7  )	�  �
	
����!#,����  �
	
��F�$�G'��G�    �
	
������3��/�8� 
 �/�(��"��������� ! �-��""����� #�$���""�������
�%��2 �����	��( �
��/�(��"
��������� !(,��"�-,������   ! &1���
����"�7���� .������/�! 0 �)��
�1�#�%��-�! �F�$���
�
/�  
�����	�������� �""����� #�$����
���,�������"�7������ ��2 �����	� (�	�����?*	���2 �������
���
�%8�! ��$  ��	
�)�"�/�( ��3��8�,��"��� �, )	 
�,������"�7��/� $ ( �
�  ���*,��-,������ 
�""����� #�$������#�$��! ��($�����
�����-�! ��99�  �-,��"�����+�# %�3��8�,��"��� �,� ( �
�
���$���� )',�)��������99�  E�
��-,������ ����F� �7  ��$��*'�����)%�
	
����)',�)����'&F�
  
�'"����(�'  �������#�$��  ����
	
��j���� ����-9�������8�,�� ����������*������������ �/�( �  
��2 ���)',�)���)$�����
����
8�������*(������
��8�,  $��*'�����)%�������  )	�  �
	
�8$,!#,! ���
#��   � 	
���������������F� �7�-,���8�,��")$��)',�)���������0���%����� #�$����,$ �����
(�������� ��������1���'  ������b����"��+F)! $���#�$��  )	�  ��	
����'�-�&�7 �������8�,
 ,����  ����3�����)��!#,������
���,��!#,! ����/���#�$�� 

5.2.2 
������������������������
��������������� !����(�	�8�������� ����F�
����� #�$��  
"$��  �-,��
��	�������� �""����� #�$��  ���(�'���/�)�9��
!#,! �������� !������� 
����F� �7  )	�  �����+�# %������)',�)���#�$��  �-,���8�,$���� �/�(��"� �)�!(,��") ! 
)��")��$  �
����-,���8�����"$��! � �)���������8�&�7   �������� !������� �""����� 
#�$�����/�!(,�-,���  8�,��"�����+�# %������)',�)���  )	�   ��2 (�������� !(,��")��")��$
"'))��� ��2 ��
��� (���,���-9�����-, /�)��")��$   ��� ����� ��
8�,��"��#�$�"�����)$��
��	���,� ��������� &��)��")��$ ��2 ��� ����
	
���������"'�� ��)�������
��"����	
���3"�k$�    
!(,)$��)',�)�����1��'

�F�
8�������*�����"��#�
8�,  (�	�(���-,�����#�$����-�� )�"���'
���0���%  �-,�������"��� �,� 
�,������"�7�  �(�'�����������
�/�!(,�-,�������� !������� 
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�""����� #�$��  )	�  !#,�/�(��"�����(��� F������ 8�,"'))�0�����(�/�(��"���0���%��
��
�����$���������� F��8���
/��$�� 10 �?)  +���-,��������* /��"�7������ #�$��8�(����(��� F���
��� 8�,�����
�����������8�����  100,000   
 �/�(��"�-,��
8����	�������� �""����� #�$��  ���(�'���/�)�9��
!#,! �������� !�8��
������ �""����� #�$��  )	�  �����$��! ���������  � �$����8�,)	  � 	
������������""
����� #�$����
�������$��! ������ � �$��.������/�! 0 �)��
�1�#�%  �
����������+�# %
! �����(��� F����&,������
�$&,��  E�
�����/������ #�$���""��
�� /�����(��� F���8�,�,����
���'���0���%&�7 �
/� 10 �?  *���������* /�����(��� F������ 8�,"'))�0�����8�,  ����/�!(,�(3 
�����+�# %��
��2 ��$��� #,�  �(�'�����������
�/�!(,����� !�8�������� �""����� #�$��  )	�  . 
��	
� 8&! ��������� �""����� #�$�������  E�"E,�  8��)����&,�!�  � 	
�������	
� 8&���
�����+�# %��
8�,��"! ��������� �""����� #�$��)�� &,��E�"E,�   � "��)��7�����������/�
)$���&,�!��/�(��"�-�),�"�����  ����/�!(,�-,����l���0����������F� �7  �
����)��-,*���3���l���0
�� ��+����
���8��8�,�/�)$���&,�!�*��$�0���������������+�# %��
��8�,��"��� 
 ���
����1���������
��������������� !������� �""����� #�$��  �,$�)���G��
����)��
�"�
���" ����6�   
"$��  �-,�����
��	�������� �""����� #�$����$ !(9�)/� ��*��  �����+�# %
������)',�)���#�$��  �����(��� F���  8���,������F�����������+�# %��
8�,��"  )$�� ���#	
�*	�
���)$����
 )�&��"����������   ���������"�7� ����/���"  ��$ �-,�����
��	��8�������� �""
����� #�$����$ !(9�)/� ��*��  �����$��! ���������  � �$����8�,)	   ��	
� 8&! ��������� 
�""����� #�$�������  E�"E,�  8��)����&,�!�  �F�
)����! )$���,�����!#,��� �� ,��  )$��
���
�������������� �-��$�����.����� ��"0 �)��  ����/���"  E�
����)�,����"� $)��&�����b�
�-,"��+F)  )	�  8��$���-,���������� !���	���������""!�  �-,����������������������1�&��
���*���+�# %��
������   ��
���,� !(,�(3 *���������(3 )$���/�)�9&����������� �""����a��

���������   ��������8��3����������� !���
����	�������� �""!� �7   �-,"��+F)�3���)��'��($����

����$�(������+�# %��
8�,��"��
���/�!(,� ���8�,��")$��
��
�!��-��'� 

5.2.3 �����"����"+)����,������"�� ����������F������ #�$���������������F�
.������/�! 0 �)��
�1�#�%  ����������F�.������/�! 0 �)��
�1�#�%��2 ��������� 
������7   �����+�# %��
8�,��"��������������
������������"�7����� �7  ������������"�7���

8�,��" �7 8��)���
 &,���&������������F� �7  )	�  ���F�
)����! ���!#,��� 8�,���$�����.����� 
����F������ #�$��  �
��������*���/����.��(�	�*� ��	
�8(���38�,�����
�,�����  ��7����8��
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�/�����/� $ ���   ��$ &,�����  )	�  ��	
�������"�7�����&�7 ���,������F��� 15%  &�����8�,���
����"�7� 
 �/�(��"��������� ����F������ #�$�� ��2 ��������� ������$&�7 �
/� 10 �?           
�����+�# %��
8�,��"  )	�  ���)',�)���#�$��(�����������#�$����� )�"���'���0���%   �����
����"�7���
8�,��")���
  �����(��� F������ 8�,"'))�0�����  &,���&����������� ����F� �7  )	� 
8���,������F�����������+�# %��
8�,��"  ��$ &,����� )	�  �,�������� ����/� $ ��
�/�( �(�"�7�
����� ��
���,������! ������?)E�
������2 �/� $ ��� ��
)�� &,���-�  �F�
)����! ���!#,���  ,��
�
���8�������**� ��� 8�,�(�	� .������/�! 0 �)��
�1�#�% 
 
5.3 ���������� 

 �����������)��7� �7 ����/�&�7 �
	
��� ������	��! ��������� !(,��"���#�# ! �&�
��'���
�(� )�  ���&��� �� �� $���  ��� �7 

5.3.1 ��'����$�������
��	�������� �""����� #�$����$ !(9������' 50 �?&�7 8�  ���*� F�

���� ��� �7 )$�����""����F�1m%!(,���)�,����"$��*'�����)%���)$���,�����! ������
��� �""����� #�$��&����'���-�),���'�� �7 

5.3.2  �/�(��"��'���-�),���
8����	�������� �""����� #�$��  )$���� , �����,��)$���-,���
)$���&,�!����
�$��"�������� #�$��  !(,��"��'���-�),���'�� �7��2 
����  �
	
�!(,�(3 *�������+�# %
��
��8�,��"������������ �""����� #�$���""�������
�%  �����2 �����	��! ��������� ��

���)�,����")$���,�����&��� ��������
�'�!(,��"�-�),�    ���( 	������������� �"".��
����/�! 0 �)��
�1�#�%�
������������$ 

5.3.3 � 	
�������������)$�����
� 0%��"���8�,  "���������� #�$��)$��/���������������
&��  �/�(��"��'���-�),���
�����8�,��7���� 25,000.-"��&�7 8�  �
��� �������8�,�����+�# %���
���������"�7�  )$��)',�)���#�$����,$���8�,���0����+�# %���F��� E�
��-,��������* /�8�&�
��(��� F������ "'))�0�����8�,  

5.3.4 �-�)������'"� &����������� ����F�.������/���"0 �)��
�1�#�%  �������F�
����� #�$���""�������
�%�����3��)����2 "$�  E�
��(�����"������' ��7� 2 ����F�  �/�(��") 
��
�,�������������  �7   )$������$���� ��������� !(,���)�,����"��j�(������)$���,�����
! ������    �
	
�!(,������)$���,���������������+�# %�����
�'� 
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5.4 ����������!�
����
��"�#$%&'�(
 

5.4.1 ��������! )��7����8� )$������������
�
��������
�$��")$��
��
�!�! ����F�1m%���
������ ��
�-�),�!(,)$��� !�&�������0 �)��   �
���! ��������)��7� �78�������)$��
��
�!���

�-�),���! ����F�1m%&�������0 �)�� 

5.4.2 )$������������
�
��������
�$��"�����+�# %�
�
�����&������������F������ #�$����

 ���( 	�������)',�)���#�$��  ������0����+�# %���F���  �#�   �����+�# %������E	7������ 
#�$���""�������
�%
�$���"����� �'&F�
 

5.4.3   )$����������� ���&���'���
 E�
������2 ��1������&�����($��!(9�a ! F-��F�)
����a  �#�   ! ���($���#���!(��  (��!(9� n�n 

5.4.4  )$�����������+���"����2 ��#�
   �
	
������$����#�
!���
!(,)$���/�)�9����&,�!�*��
�����+�# %&������/������ #�$�� 
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����"������� 1  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�������&"2�� �.����(�'�#�) 
 

!"��������!��������#����  !"��������!��-������.� 

���������& !� 100,000.-'�3     �� �'+F�     �� �'+F�     �� �'+F�     �� �'+F�     

 ���93� *�3,+(10/6)   2<��,� 3 ��5��    6 ��5��     12 ��5��     24 ��5��     
  
��3+6 
  

�'+F� 
��& !�

+,�-/�� 

+,�-/�� 

������
=5� 
��3+6 

6�(�10 

  
CF 
  

  =,�� 
=�$�=��� 

+,�- 

��3+6 ����3+6 3.13 CF NPV 3.25 CF NPV 3.63 CF NPV 3.63 CF NPV 

NPV   -$��M� /
�� 

  

3+69�$�!' 

4!�
! 
��)+ 

  
  

  3+69�$�!' 

4!�
! 
��)+ 

  
  

  
  

3+69�$�!' 

4!�
! 
��)+ 

  
  

  
  

3+69�$�!' 

4!�
! 
��)+ 

  
  

  
  r = 3.2   

1 26,800   -26,800 -25,968.99 100,000 1 26,800 720.14 -26,079.86 -25,295.69 645.46 -26,155 -25,319.01 826.91 -25,973.09 -25,070.55 836.79 -25,963.21 -25,061.01 

2 26,800   -26,800 -25,163.75 100,000 2 26,800 1,459.67 -25,340.33 -23,839.38 1,508.88 -25,291.12 -23,701.04 1,679.35 -25,120.65 -23,405.15 1,698.97 -25,101.03 -23,386.87 

3 26,800   -26,800 -24,383.48 100,000 3 26,800 2,219.04 -24,580.96 -22,429.67 2,296.31 -24,504 -22,229.54 2,558.08 -24,241.92 -21,801.57 2,588.75 -24,211.25 -21,773.99 

4 26,800   -26,800 -23,627.40 107,200 4 26,800 2,998.84 -23,801.16 -21,065.10 3,105.64 -23,694.36 -20,808.64 3,463.91 -23,336.09 -20,257.65 3,526.43 -23,273.57 -20,203.38 

5 26,800   -26,800 -22,894.77 134,000 5 26,800 3,799.58 -23,000.42 -19,744.33 3,937.50 -22,863 -19,436.68 4,397.71 -22,402.29 -18,771.27 4,452.70 -22,347.30 -18,725.19 

6 26,800 3,000 -23,800 -19,701.48 160,800 6 26,800 4,621.86 -22,178.14 -18,466.01 4,792.48 -22,007.52 -18,112.12 5,360.31 -21,439.69 -17,340.43 5,428.21 -21,371.79 -17,285.52 

7   3,000 3,000 2,406.38 160,800 7   4,746.03 4,746.03 3,832.83 4,925.79 4,926 3,924.40 5,525.71 5,525.71 4,313.90 5,597.64 5,597.64 4,370.05 

8   3,000 3,000 2,331.76 160,800 8   4,873.57 4,873.57 3,817.49 5,062.81 5,062.81 3,904.71 5,696.20 5,696.20 4,292.47 5,773.36 5,773.36 4,350.61 

9   3,000 3,000 2,259.46 160,800 9   5,004.53 5,004.53 3,802.20 5,203.65 5,204 3,885.13 5,871.96 5,871.96 4,271.15 5,952.14 5,952.14 4,329.48 

10   200,000 200,000 145,959.72 180,000 10   165,939.02 165,939.02 122,281.81 166,148.38 166,148.38 120,086.14 166,853.14 166,853.14 117,148.53 166,938.32 166,938.32 117,208.33 

��� 11,217.43    ��� 2,894.16   2,193.35   3,379.43   3,822.52 

IRR 4%  IRR   3%   4%   4%   4% 
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����"������� 2  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�������&",����&/�� �.����(�'�#�) 
 

!"��������!��������#����  !"��������!��-������.� 

���������& !� 100,000.-'�3   
  
��3+6 
  
  

 
2<��,� 
����3+6 

-$��M� /
�� 
 

�� �'+F� 
3 ��5�� 
3.38 

3+69�$�!' 

4!�
! 
��)+ 

CF 

 
 

NPV 
 
 

�� �'+F� 
6 ��5�� 
3.38 

3+69�$�!' 

4!�
! 
��)+ 

 
 

CF 
 
 

 
 

NPV 
 
 

�� �'+F� 
12 ��5�� 
3.5 

3+69�$�!' 

4!�
! 
��)+ 

 
 

CF 
 
 

 
 

NPV 
 
 

�� �'+F� 
24 ��5�� 
3.63 

3+69�$�!' 

4!�
! 
��)+ 

 
 

CF 
 
 

 
 

NPV 
 
 

 �����+ D+�=+�,�?�4!�10/7 

  
��3+6 
  

�'+F� 
��& !� 

+,�-/�� 

������
=5� 
3� �� 
  

  
CF 
  

  
NPV 
r = 1% 

=,�� 
=�$�=��� 
=,�� 

1 26,000 4,000 -22,000 -21,782.18 100,000 1 26,000 869.18 -25,130.82 -24,304.47 752.35 -25,247.65 -24,417.46 773.5 -25,226.50 -24,373.43 811.56 -25,188.44 -24,313.17 
2 26,000 4,000 -22,000 -21,566.51 100,000 2 26,000 1,532.47 -24,467.53 -22,884.90 1,526.46 -24,473.54 -22,890.52 1,570.01 -24,429.99 -22,805.66 1,648.45 -24,351.55 -22,688.57 
3 26,000 4,000 -22,000 -21,352.98 100,000 3 26,000 2,332.04 -23,667.96 -21,409.14 2,322.98 -23,677.02 -21,417.33 2,390.22 -23,609.78 -21,294.67 2,511.47 -23,488.53 -21,124.02 
4 26,000 4,000 -22,000 -21,141.57 104,000 4 26,000 3,154.83 -22,845.17 -19,985.37 3,142.54 -22,857.46 -19,996.12 3,234.83 -22,765.17 -19,838.53 3,401.42 -22,598.58 -19,617.43 
5 26,000 4,000 -22,000 -20,932.25 130,000 5 26,000 4,001.52 -21,998.48 -18,611.87 3,985.82 -22,014.18 -18,625.15 4,104.57 -21,895.43 -18,435.36 4,319.15 -21,680.85 -18,166.76 
6 26,000 4,000 -22,000 -20,725.00 156,000 6 26,000 4,872.79 -21,127.21 -17,286.97 4,853.50 -21,146.50 -17,302.76 5,000.18 -20,999.82 -17,083.37 5,265.53 -20,734.47 -16,770.05 
7 26,000 4,000 -22,000 -20,519.80 182,000 7 26,000 5,769.37 -20,230.63 -16,009.05 5,746.29 -20,253.71 -16,027.32 5,922.43 -20,077.57 -15,780.79 6,241.45 -19,758.55 -15,425.41 
8   4,000 4,000 3,693.93 182,000 8   5,936.92 5,936.92 4,543.57 5,912.56 5,912.56 4,524.92 6,098.62 6,098.62 4,631.36 6,436.27 6,436.27 4,850.16 
9   4,000 4,000 3,657.36 182,000 9   6,109.33 6,109.33 4,521.77 6,083.65 6,083.65 4,502.77 6,280.06 6,280.06 4,607.87 6,637.17 6,637.17 4,827.75 
10   150,000 150,000 135,793.04 182,000 10   188,286.75 188,286.75 134,776.56 188,259.69 188,259.69 134,757.19 188,466.89 188,466.89 133,607.72 188,844.34 188,844.34 132,588.67 

��� -4,875.94    ��� 3,350.13     3,108.22     3,235.15     4,161.18 

IRR 0%  IRR   4%   4%   4%   4% 
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����"������� 3  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�����2����0�#�$ �.����(�'�#�) 
 

!"��������!��������#����  !"��������!��-������.� 

���������& !� 100,000.-'�3   
  
��3+6 
  
  

  
2<��,� 
����3+6 

-$��M� /
��  

�� �'+F� 
3 ��5�� 
3.38 3+6

9�$�!'
4!� 

! ��)+ 

CF NPV 

�� �'+F� 
6 ��5�� 
3.38 3+6 

9�$�!'
4!� 

! ��)+ 

CF NPV 

�� �'+F� 
12 ��5�� 
3.69 3+6

9�$�!'
4!�

! ��)+ 

CF NPV 

�� �'+F� 
24 ��5�� 
3.5 3+6

9�$�!'
4!�

! ��)+ 

CF NPV 
Saver+2007(14/6) 

  
��3+6 
  

�'+F� 
��& !� 

+,�-/�� 

������ 
=5� 

3�  2 �� 

  
CF 
  

  
NPV 
r = 2.05 

=,�� 
=�$�=��� 

+,�- 

1 29,000   -29,000 -28,403.53 200,000 1 29,000 842.19 -28,157.81 -27,231.92 839.15 -28,160.85 -27,234.86 909.59 -28,090.41 -27,088.15 872.42 -28,127.58 -27,176.41 
2 29,000 4,000 -25,000 -23,982.17 200,000 2 29,000 1,708.84 -27,291.16 -25,525.89 1,702.59 -27,297.41 -25,531.74 1,847.70 -27,152.30 -25,249.29 1,771.09 -27,228.91 -25,418.48 
3 29,000   -29,000 -27,247.13 200,000 3 29,000 2,600.00 -26,400.00 -23,880.44 2,591.01 -26,408.99 -23,888.57 2,815.24 -26,184.76 -23,480.77 2,696.80 -26,303.20 -23,723.98 
4 29,000 4,000 -25,000 -23,005.78 200,000 4 29,000 3,518.37 -25,481.63 -22,291.80 3,505.14 -25,494.86 -22,303.37 3,813.12 -25,186.88 -21,780.07 3,650.35 -25,349.65 -22,090.76 
5 29,000   -29,000 -26,137.82 200,000 5 29,000 4,462.73 -24,537.27 -20,759.82 4,445.72 -24,554.28 -20,774.21 4,842.31 -24,157.69 -20,144.74 4,632.59 -24,367.41 -20,516.71 
6 29,000 4,000 -25,000 -22,069.15 200,000 6 29,000 5,434.53 -23,565.47 -19,282.04 5,413.52 -23,586.48 -19,299.23 5,903.77 -23,096.23 -18,572.42 5,644.37 -23,355.63 -18,999.82 
7     0 0.00 200,000 7   5,592.35 5,592.35 4,425.38 5,570.17 5,570.17 4,407.83 6,088.94 6,088.94 4,721.61 5,814.18 5,814.18 4,569.89 
8   4,000 4,000 3,387.30 200,000 8   5,754.76 5,754.76 4,404.16 5,731.35 5,731.35 4,386.24 6,279.92 6,279.92 4,695.96 5,989.09 5,989.09 4,548.18 
9     0 0.00 200,000 9   5,921.88 5,921.88 4,383.03 5,897.19 5,897.19 4,364.76 6,476.89 6,476.89 4,670.44 6,169.26 6,169.26 4,526.58 
10   4,000 4,000 3,249.40 200,000 10   6,093.86 6,093.86 4,362.01 6,067.83 6,067.83 4,343.38 6,680.04 6,680.04 4,645.06 6,354.85 6,354.85 4,505.07 
11     0 0.00 200,000 11   6,270.83 6,270.83 4,341.09 6,243.41 6,243.41 4,322.11 6,889.56 6,889.56 4,619.82 6,546.03 6,546.03 4,483.68 
12   4,000 4,000 3,117.10 200,000 12   6,452.94 6,452.94 4,320.27 6,424.08 6,424.08 4,300.95 7,105.65 7,105.65 4,594.72 6,742.96 6,742.96 4,462.38 
13     0 0.00 200,000 13   6,640.34 6,640.34 4,299.55 6,609.97 6,609.97 4,279.89 7,328.52 7,328.52 4,569.75 6,945.81 6,945.81 4,441.18 
14   200,000 200,000 149,509.78 200,000 14   180,833.18 180,833.18 113,237.58 180,801.23 180,801.23 113,217.57 181,558.38 181,558.38 109,172.61 181,154.76 181,154.76 111,914.11 

��� 8,418.01   ��� 4,801.18     4,590.76   5,374.53   5,524.93 
IRR 3%   IRR   4%   4%   4%   4% 

DPU



 

83 

 

83 

����"������� 4  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�����/�#�� �.����(�'�#�) 
 

!"��������!��������#����  !"��������!��-������.� 

���������& !� 100,000.-'�3     
2<��,� 
����3+6 
-$��
M� /�� 

�� �'+F� 
3 ��5�� 
3.38 3+6

9�$�!'
4!�

! ��)+ 

   �� �'+F� 
6 ��5�� 
3.38 3+6

9�$�!'
4!�

! ��)+ 

    �� �'+F� 
12 ��5�� 
3.69 3+6

9�$�!'
4!�

! ��)+ 

    �� �'+F� 
24 ��5�� 
3.5 3+69�$ 
�!'
4!�
! 

��)+ 

    
NEW QUICK BONUS 16/8                  

 �'+F� 
��& !� 

+,�-/�� 

������ 
=5� 
3� �� 

  
CF 
  

  
NPV 
r = 2.1 

=,�� 
=�$�=��� 

+,�- 

��3+6 CF NPV CF NPV CF NPV CF NPV 
��3+6                  
                   
1 26,700 4,000 -22,700 -22,233.10 100,000 1 26,700 775.39 -25,924.61 -25,072.16 772.6 -25,927.40 -25,074.85 837.45 -25,862.55 -24,939.78 803.23 -25,896.77 -25,021.03
2 26,700 4,000 -22,700 -21,775.81 100,000 2 26,700 1,573.31 -25,126.69 -23,501.43 1,567.56 -25,132.44 -23,506.80 1,701.16 -24,998.84 -23,246.76 1,630.63 -25,069.37 -23,402.53
3 26,700 4,000 -22,700 -21,327.93 100,000 3 26,700 2,394.39 -24,305.61 -21,985.93 2,385.52 -24,314.48 -21,993.96 2,591.96 -24,108.04 -21,618.50 2,482.91 -24,217.09 -21,842.43
4 26,700 4,000 -22,700 -20,889.25 100,000 4 26,700 3,239.33 -23,460.67 -20,523.82 3,227.15 -23,472.85 -20,534.48 3,510.70 -23,189.30 -20,052.69 3,360.84 -23,339.16 -20,338.73
5 26,700 4,000 -22,700 -20,459.60 150,000 5 26,700 4,108.79 -22,591.21 -19,113.35 4,093.13 -22,606.87 -19,126.60 4,458.26 -22,241.74 -18,547.06 4,265.17 -22,434.83 -18,889.52
6 26,700 5,000 -21,700 -19,156.02 150,000 6 26,700 5,003.51 -21,696.49 -17,752.77 4,984.17 -21,715.83 -17,768.60 5,435.54 -21,264.46 -17,099.44 5,196.72 -21,503.28 -17,492.93
7 26,700 5,000 -21,700 -18,762.02 200,000 7 26,700 5,924.21 -20,775.79 -16,440.45 5,900.99 -20,799.01 -16,458.83 6,443.47 -20,256.53 -15,707.74 6,156.28 -20,543.72 -16,147.18
8   5,000 5,000 4,234.13 200,000 8   6,096.26 6,096.26 4,665.51 6,071.75 6,071.75 4,646.75 6,645.57 6,645.57 4,969.38 6,341.49 6,341.49 4,815.80
9   5,000 5,000 4,147.04 200,000 9   6,273.30 6,273.30 4,643.13 6,247.44 6,247.44 4,623.99 6,854.01 6,854.01 4,942.38 6,532.26 6,532.26 4,792.92
10   5,000 5,000 4,061.74 200,000 10   6,455.48 6,455.48 4,620.86 6,428.22 6,428.22 4,601.35 7,068.99 7,068.99 4,915.52 6,728.77 6,728.77 4,770.15
11   6,000 6,000 4,773.84 200,000 11   6,642.96 6,642.96 4,598.71 6,614.23 6,614.23 4,578.82 7,209.70 7,209.70 4,834.49 6,931.20 6,931.20 4,747.50
12   6,000 6,000 4,675.65 200,000 12   6,835.88 6,835.88 4,576.65 6,805.62 6,805.62 4,556.39 7,519.38 7,519.38 4,862.25 7,139.71 7,139.71 4,724.94
13   6,000 6,000 4,579.48 200,000 13   7,034.40 7,034.40 4,554.70 7,002.55 7,002.55 4,534.08 7,755.22 7,755.22 4,835.82 7,354.50 7,354.50 4,702.50
14   6,000 6,000 4,485.29 200,000 14   7,238.68 7,238.68 4,532.86 7,205.18 7,205.18 4,511.88 7,205.18 7,205.18 4,332.54 7,575.75 7,575.75 4,680.16
15   6,000 6,000 4,393.04 200,000 15   7,448.90 7,448.90 4,511.12 7,413.67 7,413.67 4,489.78 7,413.67 7,413.67 4,298.85 7,803.66 7,803.66 4,657.93
16   210,000 210,000 150,593.91 200,000 16   221,265.23 221,265.23 129,593.90 221,228.19 221,228.19 129,572.20 221,228.19 221,228.19 123,703.04 221,638.42 221,638.42 127,820.19

��� 41,340.41   ��� 21,907.52     21,651.13     20,482.30     22,577.74
IRR 4%   IRR   5%   5%   5%   5%

 

DPU



 

84 

 

84 

����"������� 5  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�������&"!�� �.����(�'�#�) 
 

!"��������!��������#����  !"��������!��-������.� 

���������& !� 100,000.-'�3   
  
��3+6 
  
  

  
2<��,� 
����3+6 
-$��
M� /��  

�� �'+F� 
3 ��5�� 
3.13 3+6

9�$�!'
4!�

! ��)+ 

CF 

 
 

NPV 
 
 

�� �'+F� 
6 ��5�� 
3.25 3+6

9�$�!'
4!�

! ��)+ 

 
 

CF 
 
 

 
 

NPV 
 
 

�� �'+F� 
12 ��5�� 
3.63 3+6

9�$�!' 
4!�

! ��)+ 

 
 

CF 
 
 

 
 

NPV 
 
 

�� �'+F� 
24 ��5�� 
3.63 3+6

9�$�!' 
4!�

! ��)+ 

 
 

CF 
 
 

 
 

NPV 
 
 

Gain 1st 180(15/7) 
  
��3+6 
  

�'+F� 
��& !� 

+,�-/�� 

������ 
=5� 
3� �� 

  
CF 
  

  
NPV 
r = 2.2 

=,�� 
=�$�=��� 

+,�- 

1 25,000 3,000 -22,000 -21,526.42 100,000 1 25,000 671.79 -24,328.21 -23,596.71 695.39 -24,304.61 -23,528.18 771.38 -24,228.62 -23,386.70 780.35 -24,219.65 -23,378.04 
2 25,000 3,000 -22,000 -21,063.03 100,000 2 25,000 1,361.63 -23,638.37 -22,238.23 1,410.13 -23,589.87 -22,106.75 1,566.55 -23,433.45 -21,833.17 1,585.05 -23,414.95 -21,815.93 
3 25,000 3,000 -22,000 -20,609.62 100,000 3 25,000 2,070.01 -22,929.99 -20,923.19 2,144.75 -22,855.25 -20,734.09 2,386.26 -22,613.74 -20,337.29 2,414.87 -22,585.13 -20,311.56 
4 25,000 3,000 -22,000 -20,165.97 140,000 4 25,000 2,797.43 -22,202.57 -19,650.27 2,899.80 -22,100.20 -19,408.63 3,231.27 -21,768.73 -18,897.05 3,270.59 -21,729.41 -18,862.92 
5 25,000 3,000 -22,000 -19,731.87 140,000 5 25,000 3,544.39 -21,455.61 -18,418.22 3,675.86 -21,324.14 -18,128.84 4,102.34 -20,897.66 -17,510.51 4,153.03 -20,846.97 -17,468.04 
6 25,000 3,500 -21,500 -18,868.31 180,000 6 25,000 4,311.42 -20,688.58 -17,225.77 4,473.50 -20,526.50 -16,893.24 5,000.29 -19,999.71 -16,175.78 5,063.01 -19,936.99 -16,125.05 
7 25,000 3,500 -21,500 -18,462.15 180,000 7 25,000 5,099.07 -19,900.93 -16,071.73 5,293.33 -19,706.67 -15,700.41 5,925.95 -19,074.05 -14,891.03 6,001.39 -18,998.61 -14,832.13 
8   3,500 3,500 2,940.77 180,000 8   5,236.09 5,236.09 4,101.45 5,440.57 5,440.57 4,196.06 6,108.79 6,108.79 4,603.38 6,188.72 6,188.72 4,663.62 
9   3,500 3,500 2,877.46 180,000 9   5,376.79 5,376.79 4,085.03 5,591.90 5,591.90 4,175.00 6,297.28 6,297.28 4,580.52 6,381.89 6,381.89 4,642.07 
10   3,500 3,500 2,815.52 180,000 10   5,521.27 5,521.27 4,068.67 5,747.44 5,747.44 4,154.05 6,491.59 6,491.59 4,557.78 6,581.09 6,581.09 4,620.62 
11   4,000 4,000 3,148.47 180,000 11   5,669.64 5,669.64 4,052.38 5,907.31 5,907.31 4,133.20 6,691.89 6,691.89 4,535.15 6,786.52 6,786.52 4,599.28 
12   4,000 4,000 3,080.70 180,000 12   5,821.99 5,821.99 4,036.15 6,071.63 6,071.63 4,112.46 6,898.36 6,898.36 4,512.62 6,998.35 6,998.35 4,578.03 
13   4,000 4,000 3,014.38 180,000 13   5,978.44 5,978.44 4,019.99 6,240.52 6,240.52 4,091.82 7,111.21 7,111.21 4,490.21 7,216.79 7,216.79 4,556.88 
14   4,000 4,000 2,949.49 180,000 14   6,139.09 6,139.09 4,003.90 6,414.10 6,414.10 4,071.28 7,330.63 7,330.63 4,467.91 7,442.06 7,442.06 4,535.83 
15   184,000 184,000 132,756.07 180,000 15   181,304.06 181,304.06 114,690.53 181,592.52 181,592.52 111,581.74 182,556.82 182,556.82 107,399.37 182,674.35 182,674.35 107,468.51 

��� 13,155.51   ��� 4,933.97     4,015.47     6,115.42     6,871.16 
IRR 3%   IRR   3%   4%   4%   4% 

 

DPU



 

85 

 

85 

����"������� 6  !����
!���
������#����	

���������$ 

!"��!�������� = 100,000 
�� 
/�������&"2�� /�������&",����&/�� /�����2����0�#�$ /�����/�#�� /�������&"!�� 

��&"2�� /����(10/6) ��&",�� >�!�����$����10/7 Saver+2007(14/6) NEW QUICK BONUS 16/8 Gain 1st 180(15/7) 

��3+6 
�'+F���& !�
+,�- 

-#��� 

������=5� 
��3+6 

6 �(�10  

=,�� 
��3+6 

�'+F���& !�
+,�- 
-#��� 

������ =,�� 
��3+6 

�'+F���& !�
+,�-
-#��� 

������ =,�� 
��3+6 

�'+F���& !�
+,�-
-#��� 

������ =,�� 
��3+6 

�'+F���& !�
+,�-
-#��� 

������ =,�� 
=�$�=��� =5� =�$�=��� =5� =�$�=��� =5� =�$�=��� =5� =�$�=��� 

+,�-** 3� �� 
+,�-** 3�  2 �� 
+,�- 3� �� 
+,�- 3� �� 
+,�- 

1 26,800   100,000 1 26,000 4,000 100,000 1 29,000   200,000 1 26,700 4,000 100,000 1 25,000 3,000 100,000 
2 26,800   100,000 2 26,000 4,000 100,000 2 29,000 4,000 200,000 2 26,700 4,000 100,000 2 25,000 3,000 100,000 
3 26,800   100,000 3 26,000 4,000 100,000 3 29,000   200,000 3 26,700 4,000 100,000 3 25,000 3,000 100,000 
4 26,800   107,200 4 26,000 4,000 104,000 4 29,000 4,000 200,000 4 26,700 4,000 100,000 4 25,000 3,000 140,000 
5 26,800   134,000 5 26,000 4,000 130,000 5 29,000   200,000 5 26,700 4,000 150,000 5 25,000 3,000 140,000 
6 26,800 3,000 160,800 6 26,000 4,000 156,000 6 29,000 4,000 200,000 6 26,700 5,000 150,000 6 25,000 3,500 180,000 
7   3,000 160,800 7 26,000 4,000 182,000 7     200,000 7 26,700 5,000 200,000 7 25,000 3,500 180,000 
8  3,000 160,800 8  4,000 182,000 8  4,000 200,000 8   5,000 200,000 8  3,500 180,000 
9  3,000 169,800 9  4,000 182,000 9    200,000 9  5,000 200,000 9  3,500 180,000 
10  180,000 180,000 10  150,000 182,000 10  4,000 200,000 10  5,000 200,000 10  3,500 180,000 
           11    200,000 11  6,000 200,000 11  4,000 180,000 
           12  4,000 200,000 12  6,000 200,000 12  4,000 180,000 
           13    200,000 13  6,000 200,000 13  4,000 180,000 
           14  200,000 200,000 14  6,000 200,000 14  4,000 180,000 
                15  6,000 200,000 15  184,000 180,000 
                        16   210,000 200,000         

�����1�#�$	��!
�W���������� �����1�#�$	��!
�W���������� �����1�#�$	��!
�W���������� �����1�#�$	��!
�W���������� �����1�#�$	��!
�W���������� 
�'+F���& !� 6 �� 160,800 '�3 �'+F���& !� 6 �� 182,000'�3 �'+F���& !� 6 �� 174,000 '�3 �'+F���& !� 8 �� 213,600'�3 �'+F���& !� 7 �� 175,000 '�3 
J4��&��
�?�,� 192,000 '�3 J4��&��
�?�,� 186,000 '�3 J4��&��
�?�,�  224,000 '�3 J4��&��
�?�,� 285,000 '�3 J4��&��
�?�,� 232,500 '�3 

* �����K�J4 20,000 '�3 
�.�2��&�/� 4,000 �.�2��&�/� 50,000 �.�2��&�/� 71,400 �.�2��&�/� 57,500 

�.�2��&�/� 51,200 

DPU



 

86 

 

86 

����"������� 7  !����
!���
��������!
�W�!"��-������.����!�����"X 

����.��Y 2550  %�" 5 /����� 

 

���!��//����� /�������&"2�� /�������&",����&/�� /�����2����0�#�$ /�����/�#�� /�������&"!�� 

-������.� 3 !�Z����.��&�(����Y) 2.00 2.00 2.00 2.00 2.25 

-������.� 3 !�Z���*"�&�(����Y) 4.25 4.75 4.75 4.75 4.00 

-������.� 3 !�Z��![����(����Y) 3.13 3.38 3.38 3.38 3.13 

-������.� 6 !�Z����.��&�(����Y) 2.00 2.00 2.00 2.25 2.25 

-������.� 6 !�Z���*"�&�(����Y) 4.50 4.75 4.75 4.75 4.25 

-������.� 6 !�Z��![����(����Y) 3.25 3.38 3.38 3.50 3.25 

-������.� 12 !�Z����.��&�(����Y) 2.25 2.25 2.375 2.25 2.375 

-������.� 12 !�Z���*"�&�(����Y) 5.00 4.75 5.00 4.875 4.75 

-������.� 12 !�Z��![����(����Y) 3.63 3.50 3.69 3.56 3.56 

-������.� 24 !�Z����.��&�(����Y) 2.50 2.50 2.50 2.50 2.50 

-������.� 24 !�Z���*"�&�(����Y) 4.75 4.75 4.50 4.75 4.75 

-������.� 24 !�Z��![����(����Y) 3.63 3.63 3.50 3.63 3.63 
 

 

 

DPU



 

87 

 

87 

����"������� 8  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�������&"2�� �.����(�'�#�) 

1. !"��������!��������#����   2 . !"��-�����!��-������.� 
!"��!��������  100,000.-  
��  ���!"��-�� 100,000.-  
�� 

/�������&"2��  ���!��!"��-������.�/ 3 !�Z�� 6  !�Z�� 12  !�Z�� 24  !�Z�� 
��&"2�� /����(10/6)  ��������!
�W�![����(����Y) 3.13 3.25 3.63 3.63 

��3+6 
�'+F� ������=5� =,��  ���!
�W����2�)��
 782.50 1,625.00 3,630.00 907.50 

��& !�
+,�- ��3+6  =�$�=���  '����^� 15% 117.38 243.75 544.50 136.13 
-#��� 6 �(�10  
+,�-**  ���!
�W������
'��"'����^� 665.13 1,381.25 3,085.50 771.38 

1 26,800   100,000  10 �Y  2�)��
���!
�W�(���W") 40 20 10 40 
2 26,800   100,000  ���!
�W����2�)��
( 10 �Y ) 31,300.00 32,500.00 36,300.00 36,300.00 
3 26,800   100,000  '����^� 15% (10 �Y) 4,695.00 4,875.00 5,445.00 5,445.00 
4 26,800   107,200  ���!
�W������
'��"'����^�(10�Y) 26,605.00 27,625.00 30,855.00 30,855.00 
5 26,800   134,000       
6 26,800 3,000 160,800       
7   3,000 160,800       
8  3,000 160,800       
9  3,000 169,800       
10   180,000 180,000       

�����1�#�$	��!
�W����������       
�'+F���& !� 6 �� 160,800 '�3       
J4��&��
�?�,� 192,000 '�3       

* �����K�J4 20,000 '�3       
�.�2��&�/� 51,200       

 

DPU



 

88 

 

88 

����"������� 9  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�������&",����&/�� �.����(�'�#�) 
 

1. !"��������!��������#����  2 . !"��-�����!��-������.� 
!"��!��������  100,000.-  
��  ���!"��-�� 100,000.-  
�� 

/�������&",����&/��  ���!��!"��-������.�/ 3 !�Z�� 6  !�Z�� 12  !�Z�� 24  !�Z�� 
��&",�� >�!�����$����10/7  ��������!
�W�![����(����Y) 3.38 3.38 3.50 3.63 

��3+6 
�'+F���& !�
+,�- 

-#��� 
������ 
=5�3� �� 

=,��=�$�=��� 

+,�-** 

 ���!
�W����2�)��
 845.00 1,690.00 3,500.00 7,260.00 
 '����^� 15% 126.75 253.50 525.00 1,089.00 
 ���!
�W������
'��"'����^� 718.25 1,436.50 2,975.00 6,171.00 

1 26,000 4,000 100,000  10 �Y  2�)��
���!
�W�(���W") 40 20 10 5 
2 26,000 4,000 100,000  ���!
�W����2�)��
( 10 �Y ) 33,800.00 33,800.00 35,000.00 36,300.00 
3 26,000 4,000 100,000  '����^� 15% (10 �Y) 5,070.00 5,070.00 5,250.00 5,445.00 
4 26,000 4,000 104,000  ���!
�W������
'��"'����^�(10�Y) 28,730.00 28,730.00 29,750.00 30,855.00 
5 26,000 4,000 130,000       
6 26,000 4,000 156,000       
7 26,000 4,000 182,000       
8  4,000 182,000       
9  4,000 182,000       
10   150,000 182,000       

�����1�#�$	��!
�W����������       
�'+F���& !� 7 �� 182,000'�3       
J4��&��
�?�,� 186,000 '�3       

�.�2��&�/� 4,000       
 

DPU



 

89 

 

89 

����"������� 10  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�����2����0�#�$ �.����(�'�#�) 
 

1. !"��������!��������#����  2 . !"��-�����!��-������.� 
!"��!��������  100,000.-  
��  ���!"��-�� 100,000.-  
�� 

/�����2����0�#�$  ���!��!"��-������.�/ 3 !�Z�� 6  !�Z�� 12  !�Z�� 24  !�Z�� 
 Saver+2007(14/6)  ��������!
�W�![����(����Y) 3.38 3.38 3.69 3.50 

��3+6 
�'+F� ������ =,��  ���!
�W����2�)��
 845.00 1,690.00 3,690.00 7,000.00 

��& !�
+,�- =5� =�$�=���  '����^� 15% 126.75 253.50 553.50 1,050.00 
-#��� 3�  2 �� 
+,�-  ���!
�W������
'��"'����^� 718.25 1,436.50 3,136.50 5,950.00 

1 29,000   200,000  10 �Y  2�)��
���!
�W�(���W") 40 20 10 5 
2 29,000 4,000 200,000  ���!
�W����2�)��
( 10 �Y ) 33,800.00 33,800.00 36,900.00 35,000.00 
3 29,000   200,000  '����^� 15% (10 �Y) 5,070.00 5,070.00 5,535.00 5,250.00 
4 29,000 4,000 200,000  ���!
�W������
'��"'����^�(10�Y) 28,730.00 28,730.00 31,365.00 29,750.00 
5 29,000   200,000       
6 29,000 4,000 200,000       
7     200,000       
8  4,000 200,000       
9    200,000       
10  4,000 200,000       
11    200,000       
12  4,000 200,000       
13    200,000       
14   200,000 200,000       

�����1�#�$	��!
�W����������       
�'+F���& !� 6 �� 174,000 '�3       
J4��&��
�?�,�  224,000 '�3       

�.�2��&�/� 50,000       

DPU



 

90 

 

90 

����"������� 11  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�����/�#�� �.����(�'�#�) 
1. !"��������!��������#����  2 . !"��-�����!��-������.� 
!"��!��������  100,000.-  
��  ���!"��-�� 100,000.-  
�� 

/�����/�#��  ���!��!"��-������.�/ 3 !�Z�� 6  !�Z�� 12  !�Z�� 24  !�Z�� 
NEW QUICK BONUS 16/8  ��������!
�W�![����(����Y) 3.38 3.38 3.69 3.50 

��3+6 
�'+F� ������ =,��  ���!
�W����2�)��
 845.00 1,690.00 3,690.00 7,000.00 

��& !�
+,�- =5� =�$�=���  '���� �̂ 15% 126.75 253.50 553.50 1,050.00 
-#��� 3� �� 
+,�-  ���!
�W������
'��"'���� �̂ 718.25 1,436.50 3,136.50 5,950.00 

1 26,700 4,000 100,000  10 �Y  2�)��
���!
�W�(���W") 40 20 10 5 
2 26,700 4,000 100,000  ���!
�W����2�)��
( 10 �Y ) 33,800.00 33,800.00 36,900.00 35,000.00 
3 26,700 4,000 100,000  '���� �̂ 15% (10 �Y) 5,070.00 5,070.00 5,535.00 5,250.00 
4 26,700 4,000 100,000  ���!
�W������
'��"'���� �̂(10�Y) 28,730.00 28,730.00 31,365.00 29,750.00 
5 26,700 4,000 150,000       
6 26,700 5,000 150,000       
7 26,700 5,000 200,000       
8   5,000 200,000       
9   5,000 200,000       
10  5,000 200,000       
11  6,000 200,000       
12  6,000 200,000       
13  6,000 200,000       
14  6,000 200,000       
15  6,000 200,000       
16   210,000 200,000       

�����1�#�$	��!
�W����������       
�'+F���& !� 8 �� 213,600'�3       
J4��&��
�?�,� 285,000 '�3       

�.�2��&�/� 71,400       
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����"������� 12  !����
!���
����
	����'���" !"��������!��������#����	��!"��-�����!��-������.�%�" /�������&"!�� �.����(�'�#�) 
1. !"��������!��������#����  2 . !"��-�����!��-������.� 
!"��!��������  100,000.-  
��  ���!"��-�� 100,000.-  
�� 

/�������&"!��  ���!��!"��-������.�/ 3 !�Z�� 6  !�Z�� 12  !�Z�� 24  !�Z�� 
Gain 1st 180(15/7)  ��������!
�W�![����(����Y) 3.13 3.25 3.63 3.63 

��3+6 
�'+F� ������ =,��  ���!
�W����2�)��
 782.50 1,625.00 3,630.00 7,260.00 

��& !�
+,�- =5� =�$�=���  '���� �̂ 15% 117.38 243.75 544.50 1,089.00 
-#��� 3� �� 
+,�-  ���!
�W������
'��"'���� �̂ 665.13 1,381.25 3,085.50 6,171.00 

1 25,000 3,000 100,000  10 �Y  2�)��
���!
�W�(���W") 40 20 10 5 
2 25,000 3,000 100,000  ���!
�W����2�)��
( 10 �Y ) 31,300.00 32,500.00 36,300.00 36,300.00 
3 25,000 3,000 100,000  '���� �̂ 15% (10 �Y) 4,695.00 4,875.00 5,445.00 5,445.00 
4 25,000 3,000 140,000  ���!
�W������
'��"'���� �̂(10�Y) 26,605.00 27,625.00 30,855.00 30,855.00 
5 25,000 3,000 140,000       
6 25,000 3,500 180,000       
7 25,000 3,500 180,000       
8  3,500 180,000       
9  3,500 180,000       
10  3,500 180,000       
11   4,000 180,000       
12   4,000 180,000       
13  4,000 180,000       
14  4,000 180,000       
15   184,000 180,000       

�����1�#�$	��!
�W����������       

�'+F���& !� 7 �� 175,000 '�3       

J4��&��
�?�,� 232,500 '�3       

�.�2��&�/� 57,500       
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������#���� 

 Case Processing Summary 

  
  
  

Cases 
Valid Missing Total 

N Percent N Percent N Percent 

SEX * SAVING 400 100.0% 0 .0% 400 100.0% 

 

SEX * A Crosstabulation

91 100 191

47.6% 52.4% 100.0%

85 124 209

40.7% 59.3% 100.0%

176 224 400

44.0% 56.0% 100.0%

Count

% within SEX

Count

% within SEX

Count

% within SEX

������

���� !"

���

Total

&'))' ))'

A

Total

 
 Chi-Square Tests 

  Value df 
Asymp. Sig. 
(2-sided) 

Exact Sig. 
(2-sided) 

Exact Sig. 
(1-sided) 

Pearson Chi-Square 1.970(b) 1 .160     
Continuity 
Correction(a) 

1.697 1 .193     

Likelihood Ratio 1.971 1 .160     
Fisher's Exact Test       .190 .096 
Linear-by-Linear 
Association 

1.965 1 .161     

N of Valid Cases 400         

a  Computed only for a 2x2 table 
b  0 cells (.0%) have expected count less than 5. The minimum expected count is 84.04. 
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������#���� 
  

Case Processing Summary 

  

Cases 

Valid Missing Total 

N Percent N Percent N Percent 

���� * A 400 100.0% 0 .0% 400 100.0% 

 
 ���& * A Crosstabulation 

    A Total 

    9�#��� ���   

���� 1 Count 45 29 74 
    % within ���� 60.8% 39.2% 100.0% 
  2 Count 65 66 131 
    % within ���� 49.6% 50.4% 100.0% 
  3 Count 35 56 91 
    % within ���� 38.5% 61.5% 100.0% 
  4 Count 23 49 72 
    % within ���� 31.9% 68.1% 100.0% 
  5 Count 7 23 30 
    % within ���� 23.3% 76.7% 100.0% 
  6 Count 1 1 2 
    % within ���� 50.0% 50.0% 100.0% 
Total Count 176 224 400 
  % within ���� 44.0% 56.0% 100.0% 
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Chi-Square Tests 

  Value df 
Asymp. Sig. 
(2-sided) 

Pearson Chi-Square 20.775(a) 5 .001 
Likelihood Ratio 21.208 5 .001 
Linear-by-Linear 
Association 

19.333 1 .000 

N of Valid Cases 400     

a  2 cells (16.7%) have expected count less than 5. The minimum expected count is .88. 
 
 

Symmetric Measures

.222 .001

400

Contingency CoefficientNominal by Nominal

N of Valid Cases

Value Approx. Sig.

Not assuming the null hypothesis.a. 

Using the asymptotic standard error assuming the null hypothesis.b. 
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�����*���!�Z�����'�Z�2�����!"��	

������#���� 
  
 

Case Processing Summary 

  

Cases 

Valid Missing Total 

N Percent N Percent N Percent 

STATUS * 
A 

400 100.0% 0 .0% 400 100.0% 

 
 STATUS * A Crosstabulation 

    A Total 

    9�#��� ���   

STATUS ��� Count 111 99 210 
    % within 

STATUS 
52.9% 47.1% 100.0% 

  ���� Count 54 96 150 
    % within 

STATUS 
36.0% 64.0% 100.0% 

  ��  !���"# Count 4 7 11 
    % within 

STATUS 
36.4% 63.6% 100.0% 

  
�#��$�� Count 5 6 11 
    % within 

STATUS 
45.5% 54.5% 100.0% 

  
�$�� Count 2 16 18 
    % within 

STATUS 
11.1% 88.9% 100.0% 

Total Count 176 224 400 
  % within 

STATUS 
44.0% 56.0% 100.0% 
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 Chi-Square Tests 

  Value df 
Asymp. Sig. 
(2-sided) 

Pearson Chi-Square 18.754(a) 4 .001 
Likelihood Ratio 20.146 4 .000 
Linear-by-Linear 
Association 

14.148 1 .000 

N of Valid Cases 400     

a  2 cells (20.0%) have expected count less than 5. The minimum expected count is 4.84. 
 
 Symmetric Measures 

  Value 
Approx. 
Sig. 

Nominal by Nominal Contingency 
Coefficient 

.212 .001 

N of Valid Cases 400   

a  Not assuming the null hypothesis. 
b  Using the asymptotic standard error assuming the null hypothesis. 
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������#���� 
 
 Case Processing Summary 

 

  

Cases 

Valid Missing Total 

N Percent N Percent N Percent 

EDUE * A 400 100.0% 0 .0% 400 100.0% 

 
 EDUE * A Crosstabulation 

    A Total 

    9�#��� ���   

EDUE ��&�� Count 1  1 
    % within EDUE 100.0%  100.0% 
  �!*�� Count 10 13 23 
    % within EDUE 43.5% 56.5% 100.0% 
  ��
+,& Count 18 13 31 
    % within EDUE 58.1% 41.9% 100.0% 
  ������-�+ Count 130 158 288 
    % within EDUE 45.1% 54.9% 100.0% 
  �"� ,#�������-�+ Count 17 40 57 
    % within EDUE 29.8% 70.2% 100.0% 
Total Count 176 224 400 
  % within EDUE 44.0% 56.0% 100.0% 
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 Chi-Square Tests 

 

  Value df 
Asymp. Sig. 
(2-sided) 

Pearson Chi-Square 8.564(a) 4 .073 
Likelihood Ratio 9.092 4 .059 
Linear-by-Linear 
Association 

4.156 1 .041 

N of Valid Cases 400     

a  2 cells (20.0%) have expected count less than 5. The minimum expected count is .44. 
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������#���� 
 Case Processing Summary 

 

  

Cases 

Valid Missing Total 

N Percent N Percent N Percent 

OCC * 
A 

400 100.0% 0 .0% 400 100.0% 

 
 OCC * A Crosstabulation 

 

    A Total 

    9�#��� ���   

OCC �! ��+��/�! �( )� Count 11 6 17 
    % within OCC 64.7% 35.3% 100.0% 
  0$���
 ��/�!1,���
 �2 Count 55 77 132 
    % within OCC 41.7% 58.3% 100.0% 
  ��! ���'��)!3/4" 2$�� Count 89 81 170 
    % within OCC 52.4% 47.6% 100.0% 
  *�� �2�#,�-!, Count 10 43 53 
    % within OCC 18.9% 81.1% 100.0% 
  ��#'$�� Count 7 11 18 
    % within OCC 38.9% 61.1% 100.0% 
  �56�7 Count 4 6 10 
    % within OCC 40.0% 60.0% 100.0% 
Total Count 176 224 400 
  % within OCC 44.0% 56.0% 100.0% 
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 Chi-Square Tests 

 

  Value df 
Asymp. Sig. 
(2-sided) 

Pearson Chi-Square 21.905(a) 5 .001 
Likelihood Ratio 23.216 5 .000 
Linear-by-Linear 
Association 

4.082 1 .043 

N of Valid Cases 400     

a  1 cells (8.3%) have expected count less than 5. The minimum expected count is 4.40. 
 
 Symmetric Measures 

 

  Value 
Approx. 
Sig. 

Nominal by Nominal Contingency 
Coefficient 

.228 .001 

N of Valid Cases 400   

a  Not assuming the null hypothesis. 
b  Using the asymptotic standard error assuming the null hypothesis. 
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 Case Processing Summary 

 

  

Cases 

Valid Missing Total 

N Percent N Percent N Percent 

���9�$ * A 400 100.0% 0 .0% 400 100.0% 

 

����� * A Crosstabulation

35 21 56

62.5% 37.5% 100.0%

72 57 129

55.8% 44.2% 100.0%

60 96 156

38.5% 61.5% 100.0%

5 27 32

15.6% 84.4% 100.0%

4 23 27

14.8% 85.2% 100.0%

176 224 400

44.0% 56.0% 100.0%

Count

% within :��&;

Count

% within :��&;

Count

% within :��&;

Count

% within :��&;

Count

% within :��&;

Count

% within :��&;

1

2

3

4

5

:��&;

Total

&'))' ))'

A

Total

 
 

 Chi-Square Tests 

 

  Value df 
Asymp. Sig. 
(2-sided) 

Pearson Chi-Square 36.817(a) 4 .000 
Likelihood Ratio 39.296 4 .000 
Linear-by-Linear 
Association 

34.566 1 .000 

N of Valid Cases 400     

a  0 cells (.0%) have expected count less than 5. The minimum expected count is 11.88. 
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 Symmetric Measures 

 

  Value 
Approx. 
Sig. 

Nominal by Nominal Contingency 
Coefficient 

.290 .000 

N of Valid Cases 400   

a  Not assuming the null hypothesis. 
b  Using the asymptotic standard error assuming the null hypothesis. 
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����"	��"�������!����'$  Logistic Regression 

 
 Case Processing Summary 
 

Unweighted Cases(a) N Percent 

Selected Cases Included in 
Analysis 

400 100.0 

Missing Cases 0 .0 
Total 400 100.0 

Unselected Cases 0 .0 
Total 400 100.0 

a  If weight is in effect, see classification table for the total number of cases. 
 
 Dependent Variable Encoding 
 

Original 
Value 

Internal 
Value 

9�#��� 0 
��� 1 

 
Block 0: Beginning Block 
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 Classification Table (a,b) 
 

  Observed Predicted 

  

a Percentage 
Correct 9�#��� ��� 

Step 0 a 9�#��� 0 176 .0 
  ��� 0 224 100.0 
Overall Percentage     56.0 

a  Constant is included in the model. 
b  The cut value is .500 
 
 Variables in the Equation 
 

  B S.E. Wald df Sig. Exp(B) 

Step 0 Constan
t 

.241 .101 5.732 1 .017 1.273 

 
 Variables not in the Equation 
 

  Score df Sig. 

Step 0 Variables inc1 34.653 1 .000 
edue 4.166 1 .041 
status1 12.837 1 .000 

Overall Statistics 42.065 3 .000 

 
Block 1: Method = Enter 
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Omnibus Tests of Model Coefficients 
 

    Chi-square df Sig. 

Step 1 Step 44.432 3 .000 
Block 44.432 3 .000 
Model 44.432 3 .000 

  
Model Summary 

 

Step -2 Log likelihood Cox & Snell R Square Nagelkerke R Square 

1 504.312(a) .105 .141 

a Estimation terminated at iteration number 4 because parameter estimates changed by less than 
.001. 
  

Classification Table(a) 
 

  Observed Predicted 

  

a Percentage 
Correct 9�#��� ��� 

Step 1 a 9�#��� 92 84 52.3 
  ��� 62 162 72.3 
Overall Percentage     63.5 

a  The cut value is .500 
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 Variables in the Equation 
 

  B S.E. Wald df Sig. Exp(B) 

Step 
1(a) 

inc1 .536 .119 20.289 1 .000 1.710 
edue .376 .166 5.164 1 .023 1.457 
status1 .134 .063 4.576 1 .032 1.144 
Constan
t 

-2.973 .735 16.377 1 .000 .051 

a  Variable(s) entered on step 1: inc1, edue, status1. 
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